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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647540
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 50964710433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the last letters in the following letter series.

SRQ, WVU, AZY, EDC, IHG, :

Options:

1. « KLM
2. v MLK
3. = LK]
4. = JKL

Question Number : 1 Question Id : 50964710433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foleel 378TY- HHE Aol H ATTH ME-HAE AT H|

SRQ, WVU, AZY, EDC, IHG,

Options:

1. = KLM
2. v MLK
3. = LKJ
4. = JKL

Question Number : 2 Question Id : 50964710434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, one of the option CANNOT be
formed by the word, given in the question. Find that word.

UNDERMINED

Options:

1. v DRAIN
2. » UNDER
3. = MINE

4. » DINNER

Question Number : 2 Question Id : 50964710434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forFafolf@d TeaT &, fCU 910 o c@RT 31 Gehedl & & U
Aehed arfod A&7 RAT ST HahdT| 39 S I Tt

UNDERMINED

Options:

1. v DRAIN
2. = UNDER
3. = MINE
4. = DINNER

Question Number : 3 Question Id : 50964710435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the last letter in the following letter series.

B, D, G, K, P, :
Options:

1. % X



2. % J
3.vV
4. =W

Question Number : 3 Question Id : 50964710435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foTeeT 376TT ATl H 3MTAH 38T AT HL

B,D, G K P,

Options:

1. = X
2. = U
3. vV
4. = W

Question Number : 4 Question Id : 50964710436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which is
differently related?

Options:

1. v Pencil : Blackboard
2. » Needle : Thread

3. * Hammer : Nail

4. = Nut : Spanner

Question Number : 4 Question Id : 50964710436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



faT 10 TOeredy & eIEar Al 3 =TT TATT &7 & JI9T &
T R FET e §T & AT &1 3H BT Al AT S S
foieeT &7 & gafaa gl

Options:

1. v T8 : solhals
2. = oiIgdl ;| UF
3. % A : A
4, = oc: T

Question Number : 5 Question Id : 50964710437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest?

Options:

1. * MNO
2. » KLM
3. v WVU
4. = HIJ

Question Number : 5 Question Id : 50964710437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v fGwredt & &, deT v AT ek & AT &
&TellToh, Ueh Tdehed 3ed dlel hl i ool &l 39 Thed i
T L ST A9F I Ao &

Options:

1. = MNO
2. » KLM




3. v WvVLJ
4. = HIJ

Question Number : 6 Question Id : 50964710438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest?

Options:

1. = Pizza

2. » Sizzler

3. = Noodles
4. v Ice-cream

Question Number : 6 Question Id : 50964710438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT 30 aehedr & &, did T Toead dileh & AT &l

&Tolllh, Ush Tdehed e diel T g el &1 3T &hed &I
Tl hY ol AF & THea &l

Options:

1. = TOsar
2. » oo
3. % Eed

4. v ITSTHIH

Question Number : 7 Question Id : 50964710439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Select the option that is related to the third term on the same
bhasis as the second term is related to the first term.

TDX : GWC :: SUF : ?

Options:

1. = TVG
2. » UWH
3. = VXI
4, v HFU

Question Number : 7 Question Id : 50964710439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 dhed T I L S AR U & 39T TohR & 97T &
g R & g8 Ug Uge ug & He9d g

TDX : GWC : SUF : 7

Options:

1. = TVG
2. » UWH
3. = VX|

4. v HFU

Question Number : 8 Question Id : 50964710440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Drama : Stage :: Cricket : ?

Options:

1. = Team



2. = Game
3. = Bat
4. ¢ Field

Question Number : 8 Question Id : 50964710440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 [dhed T T L SF d 9E 8 39T TohR & Jaiad &
o 9~ & gEU ug Ugel Ug & HEdd g

* My
dlceh : AT :: Téhehe @ 7
Options:

1. = EIH
2. = Tl
3. # ool
4. v Hes

Question Number : 9 Question Id : 50964710441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Tokyo : Japan :: Beijing : ?
Options:

1. = Iraq

2. v China

3. = Bangladesh
4. » Russla

Question Number : 9 Question Id : 50964710441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



30 dhed T I L S AR U & 39T TohR & 97T &
g R & g8 Ug Uge ug & He9d g

SIFdT © SAT9TeT :: STteT ;@ 7

Options:

1. =
2. v AT

3. = S[Ielleel
4, = ®H

Question Number : 10 Question Id : 50964710442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If VOLTAGE is coded as XQNVCIG, then how will MUG be
coded as?

Options:

1. v OWI
2. NFT
3. = LTF
4.« NVH

Question Number : 10 Question Id : 50964710442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I VOLTAGE & XQNVCIG & 7 H Hifsd RIT AET &, ar
MUG st & sifgd ar Smeem?

Options:

1. v OWI
2. = NFT
3. = LTF



4. = NVH

Question Number : 11 Question Id : 50964710443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Here are some words from an artificial language.

'kapbis’ means 'anyone’,

'defbis’ means 'someone’

'defgix’ means 'something’

Which word would mean 'everything'?

Options:

1. = bundef
2. = RKapdip
3. = bismeg
4. v hodgix

Question Number : 11 Question Id : 50964710443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET Tk FEAA M F F& g QU &

'kapbis' T 3727 & 'anyone’,
'defbis' &T 3T & 'someone’
'defgix' T 37T & 'something’

forg ersg 1 3197 'everything' &7

Options:

1. = bundef
2. % kapdip

3. ® bismeg



4. v hodgix

Question Number : 12 Question Id : 50964710444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 286 means 'egg 1s white’, 586
means 'milk is white’ and 524 means 'egg or milk'. Find the
code for 'or’.

Options:

1.+4
2.% 8
3.2 06
4, % 2

Question Number : 12 Question Id : 50964710444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh [ATRTd I8 HIST H, 286 T 3 'egg is white' &, 586 T
3797 'milk is white' § 3T 524 T 379 'egg or milk' & 'or' &
foT &Iz @S|

Options:

1. v 4
2. = 8
3. %= B
4, = 2

Question Number : 13 Question Id : 50964710445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B, C,D and E are sitting on a bench. C is neither at the end
nor next to B or E. E is between A and B. B is not to the left of
E. D is to the left of :

Options:

1. A



2.« B
3. = E
4 v C

Question Number : 13 Question Id : 50964710445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AB CCDINETHFIa WIS EI C, AaarsidA g3 A
STBITEFTTAEIE, ANRNBFITAHEI B, EF B
AT 18t g1 D, & &5 3T &

Options:

1. = A
2. = B
3. = E
4. v C

Question Number : 14 Question Id : 50964710446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ramesh is Arjun’s brother. Arjun is Vikas's son and husband
of Gita. Pointing to Rohit, Ramesh said, "He is Gita's
mother-in-law’s brother.” How is Rohit related to Ramesh?

Options:

1. = Rohit is Ramesh'’s brother

2. » Rohit is Ramesh’s father’s brother
3. v Rohit is Ramesh’s mother’s brother
4. = Rohit is Ramesh'’s father

Question Number : 14 Question Id : 50964710446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TH, 3ol T 13 &1 37sidT, A T sler 3T far w1 afd &
AT T 3 FANT FIA §E THA o Fgl, "dg Mar H1 ard

FT ATS &
"DfET, THT T FT TEfaT &7

Options:

1. = Ufed, THT FT A &
2. » Qfgd, TAT & TOar &1 415 &

3. v Ufga, TAT HT AT F7T 7 &
4. = qUfad, AT & Oar g

Question Number : 15 Question Id : 50964710447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If it is 1: 52 PM now, what was the time 8,891 minutes ago?

Options:

1. = 6:03 PM
2. % 941 PM
3. # 6:03 AM
4. v 9341 AM

Question Number : 15 Question Id : 50964710447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfg 3m9r 1:52 PM &, ar 8,891 fATaC Uge Tohdel sot 27

Options:
1. = 6:03 PM
2. = 9:41 PM

3. = 6:03 AM
4. v 941 AM

Question Number : 16 Question Id : 50964710448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Five students took a practice test from the same test paper. No
two took the test at the same time. 1. took hints from the
markings made by M on the paper. When it was O’s turn, he
deleted all the markings made by L before handing the paper
over to P. If N was the first to take the test, who was the
second last?

Options:

1.« M
2.v 0
3.= L
4 %P

Question Number : 16 Question Id : 50964710448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U BTN & Uk &1 ¥ 9UY @ 30eurH wIeT &yl foRedr o g
BHEl o Uk &1 AT W o180 &1l L o M g@RT weadd W
3ifhd Fgal & Hohd folw| S O hr aHT 31E, af 38« P &l
T Hidel F Ugel L ganT dare v F@r REar s fFer e
Ife oI&TT gaf arelm N Ugelm o1F o, df 3ifdd & gar Sl am?

Options:

1. = M
2. v O
3. % L
4. = P

Question Number : 17 Question Id : 50964710449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T ASBFRTHTA BHAT Ucar &, A # B &7 37T A, B hr
TEd 3N I A+BFRITA BF I wrafd g, ar X $
Y % Z # W T 7 3T §7

Options:

1.« W T adr X g
2. « W shr aga X &
3. v W T &g I &1 X &
4. «» W ST AT X &

Question Number : 17 Question Id : 50964710449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfA$ B means A is wife of B, A # B means A is sister of B and
If A* B means A is daughter’s husband of B, then what does X
$Y*Z#Wmean?

Options:

1. = W's daughter is X

2. = W's sister is X

3. v W’'s sister’s daughter is X
4. « W's mother is X

Question Number : 18 Question Id : 50964710450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements :-
I. All painters are good dancers.
I1. All good dancers are cricketers.

Conclusion :-
I. Some cricketers are painters.
II. Some painters are good dancers.

Options:

1. = Only Conclusion I follows.

2. = Only Conclusion II follows.

3. v Both conclusion I and II follows
4. = Neither of the conclusion follows.

Question Number : 18 Question Id : 50964710450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



mmmmﬁwﬁaﬁtwﬁﬁlwmgc%
FUAT H 2T IS ATARRT T &, Hol &l I HIT: AT a2l
+ T faeReT FIG gV fG@s 4 81, 39 fashy 1 e wY
ol 3T §3g @ W 38 FYUe KT dlicheh §9 § HTEIOT LT &1
|

FeTeT:-
. T R”FFR 35 dd+ o
|. |1 3= ok Tohehed ol

IGREA
. & e TR E
I F& TR 37T ade &l

Options:

1. % haoel foIseh¥ | 3Te[ELOT HIAT §
2. = ohael felShy || 37TEIOT FIAT &
3. v foshy | 31T || gl 37T I &
4. = g AT TTSRT AT <&l AT &

Question Number : 19 Question Id : 50964710451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Read the given statement and conclusions carefully. Assuming
that the information in the statement is true, even if they
appear to be in variance with commonly known facts, select
which of the conclusions logically follow(s) from the
statement beyond reasonable doubt.

Statements :-

I. All threads are ropes

I1. All wires are ropes

III. No filaments are ropes and some threads are wires

Conclusions :-
I. Some wires are filaments
II. No threads are filaments

Options:

1. = Only Conclusion I follows.

2. v Only Conclusion II follows.

3. = Both conclusion I and II follows
4. = Neither of the conclusion follows.

Question Number : 19 Question Id : 50964710451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



mmmmﬁwﬁaﬁtwﬁﬁlwmgc%
FUAT H 2T IS ATARRT T &, Hol &l I HIT: AT a2l
+ T faeReT FIG gV fG@s 4 81, 39 fashy 1 e wY
ol 3T §3g @ W 38 FYUe KT dlicheh §9 § HTEIOT LT &1
|

hd:-

. eir et T B

I Ty T TET g

Il. T T TET =T § 3T FT 9wl G’ g

IGLEY 1
. %% I dd &l
¥ s

I RIS @Tet a8l g

1. % hdel oISy | 3TTETOT LAl &l

2. v hael fowhy || 3eEI0T T B
3. * fasshy | 3T || ST 3efERoT X &
4. » RS & forsahy 37eTETOT &N FIAT B

Question Number : 20 Question Id : 50964710452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of numbers are similarly related
and one pair is differently related. Find the pair which is
differently related.

Options:

1. = 123 : 666




2.v 144 : 441
3. = 444 : 987
4. %121 : 664

Question Number : 20 Question Id : 50964710452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fCT a1 Tderedl H HEITHT &1 3 SISl Uk TATT Fefdd &

AT vor SNET 3o aiieh O 9fad &1 39 SIET &l AT HT SN
3ol g & TEad gl

Options:

1. = 123 : 666
2. v 144 : 441
3. = 444 : 98/
4. = 121 : 664

Mental Ability?2
Group Number : 2
Group Id: 509647223
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 509647383
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 509647541
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 50964710453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1.+ 356
2. % 192
3. = 468
4. % 216

Question Number : 21 Question Id : 50964710453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av Reredt & &, II9 v Aigaa alis & gaAT &

&TollTeh, TUeh Tdehed 3T dlel T oi& oTol &1 39 [hed &

T T S AT T e &

Options:

1. v 356
2. = 192
3. = 468
4. = 216

Question Number : 22 Question Id : 50964710454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

125:25::729:7
Options:

1. =79
2. % 72
3. % 529
4. v 81

Question Number : 22 Question Id : 50964710454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
¢ o v @ qEdl e ugell HEAT ¥ FEldd ¢

125 : 25 2 729 : 7

Options:

1. = 79
2. % /2
3. # 529
4. v 81

Question Number : 23 Question Id : 50964710455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

343:1331::7:7
Options:

1. % 13
2.v11
3. % 17
4 %9

Question Number : 23 Question Id : 50964710455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
¢ o v @ qEdl e ugell HEAT ¥ FEldd ¢

343 1331 == 7 + 7

Options:

1. = 13
2. v 11
3. % 17
4. = 9

Question Number : 24 Question Id : 50964710456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given equation is incorrect. Which two signs should be
interchanged to correct the given equation?

93-3+8x2-15=2

Options:



1. = + and x
2. % +and -
3. = xand +
4. v +and -

Question Number : 24 Question Id : 50964710456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feam arar gAY ITora &1 ST 9T gFATRIuT S TEr R
forw Tohet & RIegl o TWEW sFcoldl ANge?

9+3+8x%x2-15=2

Options:

1. = + 3T x
>« o+ 3T -
3. = x 3T +
4, v + 3T -

Question Number : 25 Question Id : 50964710457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, '+' represents -, -’ represents 'x’,
"%’ represents '+’ and '+’ represents '+'. Find out the answer to
the following question.

40 -8+ 240x 30+ 15 =7
Options:

1. = 512
2. v 327
3.% 72
4. % 94



Question Number : 25 Question Id : 50964710457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fafead s amr &, '+, - &1 wfafafde o g, -, %
FT AfAfATded I &, %, '+ FT dfafaided Far § AW '+,
'+ w7 wfafafdaa Fwar &1 Feafef@a wea &1 3cav 7T F

40 - 8 + 240 x 30 + 16 = 7

Options:

1. = 512
2. v 327
3. % 72
4. = 94

Question Number : 26 Question Id : 50964710458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

-3,7,-2.5,-2.25,-2,-1.75
Options:

1. = -2.65
2.v-2.75
3. % -2.85
4. % -2.95

Question Number : 26 Question Id : 50964710458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeFafTaT a&ar g&enr A oI T&AT AT FI|

-3,7, -2.5, -2.25, -2, -1.75



Options:

1. = -2.65
2. v -2.75
3. » -2.85
4, = -2.95

Question Number : 27 Question Id : 50964710459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

2,84,7,72,006,0

Options:

1. = 7.6
2.v 7.8
3.+74
4, % 8

Question Number : 27 Question Id : 50964710459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eTTeTaT a&ar 4&rer | GA T&AT AT FH|

9, 84, 7, 72,66, 06

Options:

1. = 7.6
2. v 7.8
3. = 74
4, = 8

Question Number : 28 Question Id : 50964710460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The weights of 4 boxes are 4.5, 1.5, 6 and 8 kilograms. Which
of the following cannot be the total weight, in kilograms, of
any combination of these boxes?

Options:

1. = 15.5
2.v 19
3. = 20
4. % 18.5

Question Number : 28 Question Id : 50964710460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 &l T aoled 4.5, 1.5, 6 3T 8 Tohelland &1 Tl TSeal &
raT ¢ garater T MeateiEaa & O rellamda A shiel @l Fel
ol oIal &I Gohdl &7

Options:

1. = 15.5
2. v 19
3. = 20
4. = 18.5

Question Number : 29 Question Id : 50964710461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If11@23=17, 5@13=9, 14@8-=11, then find 26@6-= ?

Options:

1. v 16
2. % 32
3. % 66
4 % 22

Question Number : 29 Question Id : 50964710461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



I 11@23=17 , 5@13=9, 14@8=11 &, ar 26@6=7 7T Hi|

Options:

1. v 16
2. % 32
3. ® 66
4. = 22

Question Number : 30 Question Id : 50964710462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

17:4913 ::19:7?
Options:

1. v 6859
2. » 8599
3. = 6589
4. = 5564

Question Number : 30 Question Id : 50964710462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 AT T TIT i S W U 8 33 TR @ gEfea &
o/ 9hR & gEU ug Ugel Ug & (AT g

17 - 4913 == 19 : 7

Options:

1. v 6859
2. = 8599
3. = B589



4. = 5564

Question Number : 31 Question Id : 50964710463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following figure,triangle represents car drivers, square
represents singers, circle represents vegetarians and rectangle
represents fathers. Which set of letters represents car drivers
who are singers who are also fathers?

K|

A5
E

1. = CD
2.% G
3.v(C
4. = CG

A

H
F

Question Number : 31 Question Id : 50964710463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foraiferf@d mpfcr &, Merer, T =merehl 1 gffefded FT
&, a1, ARl FT FdTATScd AT &, Food, ATRBIRAT HT
ufafafaca swar & 3t amaa, Oant w1 ufafaface sar &

AT T i AT E 3oT L ATelhl T UTdTaldcd hIdl & ol
TR & 3T S TOar o &7

K|

N
s_" E D\‘:
Options:

1. » CD
2. =
3. v C
4. = CG

A

H
F

Question Number : 32 Question Id : 50964710464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If East becomes South-West, then what will West become?

Options:

1. » North

2. v North-East
3. » East

4. = North-West

Question Number : 32 Question Id : 50964710464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T¢I STAIOT-9TRaA g1 3T, Al IIeaH AT S9?

Options:

1. = 3ccd¥
2.@3FIT-E|:\T:CF
3.+ 74

4. = Jcal-qieaH

Question Number : 33 Question Id : 50964710465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

X

w|O

Options:




Question Number : 33 Question Id : 50964710465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ccl 3fd # ToiestleliEd # & iel €T ool uel 3hid #
el SEl o TN 9T dAaT FAR—T ST GehdT?

X

Options:




Question Number : 34 Question Id : 50964710466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.

mrREEEREeRRRRREERs" @ EERRRdEREseReREddE"

Options:

N
CAN

Ak




A0 O
<o ol
e
2.
W
b O A
7 %e°w
Al
3. =
O Ak O
A
N 7
aNF o
4'-%

Question Number : 34 Question Id : 50964710466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el 3Tl H e fQ@T 36[EN U & gohs sl AlShT 3HA
3% fFT 1T &1 & 715 e i 8, 39w fR 38 @
STet 9T IE T fgms dam

....................................

Options:

o]

OT"' P@
CaAn

A




NV
o0

Al

N
00
Al

D‘,:B-:'J
[
;,.’
oNV o

2]
<

Question Number : 35 Question Id : 50964710467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following answer figure completes the series of
the question figure?

------------------

>0 VIl O_|i
AN A
O | -
Options:
G.
]
A,
1. =
N
|AQ |



<10

NV

Q

4. =

Question Number : 35 Question Id : 50964710467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fareflf@d # & sled &7 3caT 3MThla wesT 3Thlc ST e i
T AT &7

-----------------

>0 Vil O
N
@)

AN

Options:

O

<0

<10



NV

5
L

Question Number : 36 Question Id : 50964710468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out from amongst the four alternatives as to how the
pattern would appear when the transparent sheet is folded at
the dotted line.

@
-
® i

Options:

5]

+D

N

1.=

_ﬂ_.é.

-+

oy

2.v

'

T

)




Q.
-
®

4. =

Question Number : 36 Question Id : 50964710468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR fahedt # & Ig A w R fdegar I@r W aReel e
T HISa W 3pid Fa fe@mg 33|

®
-

Options:
+B
S
1. =
+0
..-® =



2%

oL®

Question Number : 37 Question Id : 50964710469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given answer figures, select the one in which the
question file is hidden/embedded ?

iy

N

Options:

K




4. v

Question Number : 37 Question Id : 50964710469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& ¢ 3 IMHIAAT # 8 39 Uk FT I i forad wea
3l ffga &

]

-

Options:




Question Number : 38 Question Id : 50964710470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the last letter in the following letter series.

AEKS, .

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.B
2.E
3.U
1Y

Question Number : 38 Question Id : 50964710470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foresT 3181 sfEen # AHTAA 38T AT F

AE K S .
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. B
2. E
3. U
4. Y

Question Number : 39 Question Id : 50964710471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

VARV,
AA
2 e




> GV
> @& A

3. v

——|
> @ <
> & <]

4 =

Question Number : 39 Question Id : 50964710471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av Beredt & @ e v Afeaa ol & aaa g

&TeliTeh, Ueh Taeheq 3ed died T ol el &1 39 [reT &
T L ST A9F I Ao &

VAYAY
AA
LI
1. =




> GV
> @& A

3. v
VvV VvV V
H@@
4w L s

Question Number : 40 Question Id : 50964710472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

WA
L

Options:




A
4

3.

4 %

Question Number : 40 Question Id : 50964710472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SleT &1 Sl 3Thic Wos 3T & Ucer I T HIM?

WA
L

Options:




Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:

General Awarenessi

3
509647224
0

0
No
No
0
20
No
Yes
0

0

General Awarenessl

509647384
1

Online
Mandatory



Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647542
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 50964710473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which state is "Bhatiali” (a folk song) associated?

Options:

1. » Karnataka
2. = Assam

3. v West Bengal
4. » Tamil Nadu

Question Number : 41 Question Id : 50964710473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"AieATe" (T ok i) T T | ST 87

Options:

1. = Shallceh
2. = 38H

3. v UTeIH FIe
4. = Affer a3

Question Number : 42 Question Id : 50964710474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"Mohiniyattam” is famous dance form associated with which
state?

Options:

1. v Kerala

2. « Karnataka
3. * Tamil Nadu



4, » TUttar Pradesh

Question Number : 42 Question Id : 50964710474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"Alfgea3gd” fohd T 1 g o7 &7

Options:

1. v el

2. » hellceh
3. = Affer a3
4. » 3cdl veel

Question Number : 43 Question Id : 50964710475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gudi Padwa is the first day of that marks the
beginning of the new year according to luniselar Hindu
calendar.

Options:

1. = Kartika
2. » Ashadha
3. = Vaisakha
4. v Chaitra

Question Number : 43 Question Id : 50964710475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR EC]) T Ugell faeT § S Aeg-8i Bg HelsT

=y HATAR AT Hel dr QB3I Udleh &1

Options:

1. = SIdeh
2. % YIS
3. = eI




4. v IF

Question Number : 44 Question Id : 50964710476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Mehrangarh Fort of Rajasthan was built by in the year
1459.

Options:

1. » Maharana Pratap Singh
2. » Rana Kumbha

3. v Rao Jodha

4. » Hammir Dev Chauhan

Question Number : 44 Question Id : 50964710476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

{SIEAT T AELTAIG Tohell a¥ 1459 & AN
ST T AT

Options:

1. » HABRIOM vag &g
2. % IO §34T

3. v T ST

4, » BFAR 23 g

Question Number : 45 Question Id : 50964710477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

the former finance minister, has presented the budget
for the highest number of times.

Options:

1. = P Chidambaram

2. » R K Shanmukham Chetty
3. = C.D. Deshmukh

4. v Morarji Desai




Question Number : 45 Question Id : 50964710477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

, qd fdcd #A1, o oG 396 gR soic 9o fhar &

Options:

1. = 9F RIEeRA

2. = 3N & AAHAEH LI
3. = €3 oA

4. v ARSI S5

Question Number : 46 Question Id : 50964710478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a step of water purification in which chemicals are
added that cause small particles suspended in the water to
clump together.

Options:

1. v Coagulation
2. » Flocculation
3. = Filtration

4. = Disinfection

Question Number : 46 Question Id : 50964710478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STel @Melel T Ueh TXOUT § [oTOd T THellv ST
g foieh ROT B FUT UF AT IRAT (FFT) 8l F o
UTail & foeliad & Sia g1

1. «:—? Tehest (Coagulation)

2. = 30T (Flocculation)

3. = Taegea (Filtration)




4. = KA (Disinfection)

Question Number : 47 Question Id : 50964710479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which among the following type of parasitic infection is
caused by Schistosoma haematobium?

Options:

1. v Urine
2. = Sullage
3. » Faeces
4. = Malaria

Question Number : 47 Question Id : 50964710479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & O T YhR T Wolaoed HhAT fRearaiaT
SHCITETH o hROT &IdT &7

Options:

1. v #F (Urine)

2. = HAfoletotel (Sullage)
3. = Hel (Faeces)
4. = FAT (Malaria)

Question Number : 48 Question Id : 50964710480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The minimum rate below which banks are not allowed to
lend money except in cases specified by the Reserve Bank of
India is called

Options:

1. = Bank rate
2. v Base rate
3. = Repo rate



4. = Reverse Repo rate

Question Number : 48 Question Id : 50964710480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARG RSd 8 garT fise ATHe FT BIsR ST Sl &r
HOT Aot hT AT TG &, Seehl AcIA o § HA 1 T H

el ST &l

Options:

1. = & &I

2. v 39 &
3. = T &7

4, « T@d 34T T

Question Number : 49 Question Id : 50964710481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AATATRNAT Tk MThTHS FaT & o F IHod:egud
% SIOT ZIAT &I

Options:

1. v 3cg (asbestos)

2. = Tafelsr oer (silica dust)
3. = @MET (lead)

4. = T (Mercury)

Question Number : 49 Question Id : 50964710481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mesothelioma Is an aggressive cancer that is caused by the
inhalation of

Options:

1. v asbestos
2. % silica dust



3. » lead
4. » mercury

Question Number : 50 Question Id : 50964710482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the minimum support price (MSP) of bajra for
2018-19?

Options:

1. = Rs. 1,425 per quintal
2. = Rs. 1,800 per quintal
3. = Rs. 1,750 per quintal
4. v Rs. 1,950 per quintal

Question Number : 50 Question Id : 50964710482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2018-19 & TV STeRT T goldd AT Hed {minimum
support price (MSP)} T §7

Options:

1. » ®9F 1,425 ufa Face
2. = ®9I 1,800 uf TeFacer
3. = TG 1,750 ufa TeFacer
4. v - 1,950 vi Teacer

Question Number : 51 Question Id : 50964710483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Acid rain results when sulfur dioxide and are
emitted into the atmosphere and transported by wind and air
currents.

Options:

1. = ammonia
2. = methane



3. v nitrogen oxide
4. = calcium oxide

Question Number : 51 Question Id : 50964710483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S Temd BB ASS 3R qgASS H Scafold

Bld & 3N &aT 3R aY 903 @il o S Sd & 9 3l
gst gidr gl

Options:

1. = 3TAMAT
2. % TAAA

3. v dATEcield 39158

x hicRTIH HTFHTSS

Question Number : 52 Question Id : 50964710484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the common name of Sorghum vulgare?

Options:

1. = Maize
2. » Wheat
3. = Rice

4. v Jowar

Question Number : 52 Question Id : 50964710484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARTH el (Sorghum vulgare) T GTURUT ATH 4T §7

Options:

1. = HeFhT

2.« M

3. = Tdel




4., v d¥

Question Number : 53 Question Id : 50964710485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What does a Wattmeter measure?

Options:

1. » Temperature

2. » Wavelength of radiowave
3. v Electric power

4. » Solar radiation

Question Number : 53 Question Id : 50964710485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gAY T 3TAET F8 AT & T foRam Jar §7

Options:

1. = dTIHTA

2. » ISAY TLEET T TLET gl
S.wﬁ@ﬁ'ﬂﬁﬁ?

4, = G fafertor

Question Number : 54 Question Id : 50964710486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following enzymes splits carbohydrate into
simple sugars?
Options:

1. = Lipolytic Enzyme

2. = Proteolytic Enzyme
3. = Betaine Enzyme
4. v Amylolytic Enzyme

Question Number : 54 Question Id : 50964710486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafaf@a & @ wia a7 ufFva (Toen) FEeEse HF avd
eThdT H TTHITT T &7

Options:

+*

AEG IUCIErS
. v UATSdIfolleh TATSH

Question Number : 55 Question Id : 50964710487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the chemical name of caustic soda?

Options:

1. = Sodium Perborate

0N
b
[

2. » Calcium Oxide
3. » Sodium Bicarbonate
4. v Sodium Hydroxide

Question Number : 55 Question Id : 50964710487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FITEceh TIST T AT Teleh ATH FAT &7

Options:

1. = GIf3TdA WaRe

2. % hicRrgH HTFaTSS
3. » QISAH SFShEac
4. v QISIH ESSIFHTSS

Question Number : 56 Question Id : 50964710488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following river is known as Sorrow of Bihar?

Options:




1. * Betwa
2. v Koshi
3. » Tawa
4. = Ghagra

Question Number : 56 Question Id : 50964710488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafo@aT & & Trg 35 & [WgR &1 3178eny a1 sar §7?

Options:

1. = Sgar
2. v HIET
3. % ddr

4. = ETERT

Question Number : 57 Question Id : 50964710489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Korea Strait separates South Korea from

Options:

1. = China
2. v Japan
3. = Mexico
4. = Greece

Question Number : 57 Question Id : 50964710489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FINIT T e ST&TUT hITAT i T 3TeTdT LT &l

Options:

1. = Tl
2. v SI9Te
3. = AT




4.%EI“F-I'I?I'

Question Number : 58 Question Id : 50964710490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which among the following soils 1s formed by weathering of
rocks in dry conditions?

Options:

1. = Alluvial soil
2. » Black soil
3. = Saline soil
4. v Arid soil

Question Number : 58 Question Id : 50964710490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfai@a & @ Fia a1 @2 oo aRfeafadt # g &
YT H Foldl o7

Options:

1. = Sfelte TAEr (Alluvial soil)
2. = @rell fHET (Black soil)
3. = ogur fAEr (Saline soil)
4. v Ik TAET (Arid soil)

Question Number : 59 Question Id : 50964710491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following mountains has the highest peak in
Europe?

Options:

1. » Mont Blanc
2. = Monte Rosa
3. v Mount Elbrus
4. = Mount Kazbek



Question Number : 59 Question Id : 50964710491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A FE gda e Ted S &7

Options:

1. % HIC selh
2. = HIc e

3. v AT o

4. = ABE FTolsh

Question Number : 60 Question Id : 50964710492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What among the following is the largest jute producing state
of India?

Options:

1. v West Bengal

2. = Tamil Nadu

3. » Jammu and Kashmir
4. » Maharashtra

Question Number : 60 Question Id : 50964710492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafolad # & Sl A7 ToF AR FHT T 3T S 3cTeeh
&7

Options:

1. v 9TegH el

2. = Affer a3

3. * SFH 3T FAR
4. % HgNISG




General Awareness2

Group Number : 4

Group Id: 509647225

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awareness?2

Section Id : 509647385
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 509647543
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50964710493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many countries are there in Africa?

Options:

1. = 50
2.v 54
3. % 58
4 % 48

Question Number : 61 Question Id : 50964710493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IWRTRT A Foraer et 7

Options:



1. = 50
2. v 54
3. = 58
4, = 48

Question Number : 62 Question Id : 50964710494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did the Quit India Movement start?

Options:

1. = 1945
2. % 1947
3. % 1940
4, v 1942

Question Number : 62 Question Id : 50964710494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T BIST STl he [E I o477

Options:

1. = 1945
2. = 1947
3. = 1940
4, v 1942

Question Number : 63 Question Id : 50964710495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is known as the Veda of Melodies?

Options:

1. = Rigveda
2. v Samaveda
3. = Yajurveda



4, » Atharvaveda

Question Number : 63 Question Id : 50964710495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d A @ fF8 gEatar & dg (dg 3% AWSS) & a@H
T STl ST &7

Options:

1. = #adg
2. v HTAYS
3. % godg

-

4. % 372I99%C

Question Number : 64 Question Id : 50964710496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When was the battle of Haldighati fought?

Options:

1. = 1570
2. % 1586
3.+ 1576
4. = 1585

Question Number : 64 Question Id : 50964710496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

E_c‘ﬂﬂﬁw T & el oIST 1] AT?

Options:

1. = 1570
2. = 1586
3. v 1576
4. = 1585

Question Number : 65 Question Id : 50964710497 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which Mughal Emperor was also known as "Ali Gohar™?

Options:

1. ¥ Shah Alam II
2. = Aurangzeb
3. = Akbar

4. = Jahangir

Question Number : 65 Question Id : 50964710497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore H3Tel THTC FT "37ell Mg & A7 & o7 ST ST a7?

Options:

1. v Mg 3reld |l
2. = 3Tl
3. % 3Ths¥

4. = STEETN

Question Number : 66 Question Id : 50964710498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did Civil Disobedience movement start?

Options:

1.+ 12th March, 1930
2. % 15th March, 1931
3. » 12th March, 1935
4. » 18th March, 1932

Question Number : 66 Question Id : 50964710498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AIAeT 3TTAT Jalelel el qF FIT AT?
P |

Options:

1. v 12 AR, 1930




2. = 15 AT, 1931
3. = 12 AR, 1935
4. = 18 AR, 1932

Question Number : 67 Question Id : 50964710499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the god of the air in Mesopotamian civilisation?

Options:

1. = Anu

2. v Enlil
3. » Nanna
4. = Utu

Question Number : 67 Question Id : 50964710499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AEIIETAAT T FeFAT H T K g Hlel 47

Options:

1.*3‘]@'
2. v Uallelel
3. % dodl

4. = 3¢

-

Question Number : 68 Question Id : 50964710500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won the best actress award in the National Film Award
20187

Options:

1. v Sridevi
2. = Sonam Kapoor
3. = Alia Bhatt



4. = Deepika Padukone

Question Number : 68 Question Id : 50964710500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI fihed WERR 2018 H TAATS T FT IR fomaat
ST 2a1?

Options:

1. ¢ #2ar
2. = HIeTH FR

3. = MTelT 18
4. = EITURT TEeRIOT

Question Number : 69 Question Id : 50964710501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following institutions was formed to assist the
poor countries which could not afford to borrow capital at
market rates?

Options:

1. v International Development Association
2. = World Health Organisation
3. #» International Chamber of Commerce

4. = International Business Organization

Question Number : 69 Question Id : 50964710501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraeiEa A7 O TFg OTATa FT 7S 3o INTT 22 hl HErIaT
& ToIv foram a@am o1 S ST9TRT & 9T il 3YN &8l of Jhd
97

Options:

1. v OSSR Taeprd |ET




2. = T0eT Taeeg HIadd
3. % TS FIOIeT AUSH
4. % RTET FTUR IS

Question Number : 70 Question Id : 50964710502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WHAR Teh ZanT Yelel foRaT STt &l

Options:

1.&3411?&«'333@1&#
2. » HNT & TdTel HAT

3. v AR & ITsgafa
4_%aqma?§wm%ﬂﬁr

Question Number : 70 Question Id : 50964710502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Param Vir Chakra is awarded by the

Options:

1. « Chief Minister of India
2. = Prime Minister of India

3. v President of India
4. = Chief Justice of India

Question Number : 71 Question Id : 50964710503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which award among the following holds the highest rank in
the sports award category?

Options:

1. v Rajiv Gandhi Khel Ratna
2. * Dronacharya Award
3. = Arjuna Award



4. = Dhyan Chand Award

Question Number : 71 Question Id : 50964710503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d A @ FleT @1 v Dol A Fafed TERRT &7

Options:

1. v Tog T Tol Icel
* ZNOTME QL&

2.

3. ® 3797l WERN
s M

4.

« CITATS T

Question Number : 72 Question Id : 50964710504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first female judge in India and the first woman
in India to become a High Court judge?

Options:

1. = Fathima Beevi
2. v Anna Chandy
3. » Sujata Manohar
4. = Indu Malhotra

Question Number : 72 Question Id : 50964710504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HT =l Ugell ATadl «AATHRT 3T ARG 3= I=Ted bl
Ugoll HATeell wITATdIeT Hid 2f7?

Options:

1. %= WRITJAT ST&l

2. v 3T TS

3. * Il AelleT
4. = Fg HegHl




Question Number : 73 Question Id : 50964710505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"The Golden Gate” is written by ,

Options:

1. » Ruskin Bond
2. » David Davidar
3. * R K Narayan
4. v Vikram Seth

Question Number : 73 Question Id : 50964710505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"% dMegd A" SaNT TordT a5 o)

Options:

1. = {{Tehal HIUS
2. = 3fag sfasT
3. ® 3N o ARIOT
4. v THA O

Question Number : 74 Question Id : 50964710506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the amendment was the age limit for voting
rights reduced from 21 years to 18 years?

Options:

1. = 54th
2. = 62nd
3. = 55th
4. v blst

Question Number : 74 Question Id : 50964710506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forer Teerer # Aderl & TR Hr 3 dAT 21 a¥ |
Helhd 18 ¥ T a5 oAT?

Options:

1. = 543
2. = 623
3. = 553
4. v 613

Question Number : 75 Question Id : 50964710507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The schedule of the Indian Constitution contains the
powers, authority and responsibilities of Panchayats.

Options:

1. = Tenth

2. v Eleventh
3. = Seventh
4. = Fifth

Question Number : 75 Question Id : 50964710507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRATT Hidema hr T A ATl R e,
PR AR TSFATRAT enfAe &

1. = ggarl
2. v IGNEGl
3. = Hrdar
4. % qrIgr

Question Number : 76 Question Id : 50964710508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



When did the first meeting of the Constituent assembly take
place?

Options:

1. » 12th December 1945
2. » 15th December 1946
3. v 9th December 1946

4. = 16th December 1945

Question Number : 76 Question Id : 50964710508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afadrer AT T Igell S5k e T 75 N7

Options:

1. = 12 fegay 1945
2. = 15 fg@a¥ 1946
3. v 9 feHeT 1946
4. = 16 fqHaT 1945

Question Number : 77 Question Id : 50964710509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When is the Constitution Day of India celebrated?

Options:

1. v 26th November
2. » 28th October

3. = 26th January
4. = 15th August

Question Number : 77 Question Id : 50964710509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT T AU Gaq Fd AT AT 87

Options:

1. v 26 &g




2. % 28 3o
3. % 26 STeladT
4. = 15 39ET

Question Number : 78 Question Id : 50964710510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following is the record holder of maximum
number of Grand Slam Womens’ Doubles titles?

Options:

1. » Venus Williams

2. = Marla Sharapova

3. = Serena Williams

4. v Martina Navratilova

Question Number : 78 Question Id : 50964710510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ & O raa 3 TofF AfRer S99 & god Mfas
EEGIERSIG IR

Options:

1. = dierg Tafere
2. = HINIGT erRT9Er
3. = WET Tafelgry
4. v ATTET AgUideral

Question Number : 79 Question Id : 50964710511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following cricketers has scored the highest
individual score in a single match in the ODI format?

Options:

1. ¥ Rohit Sharma



2. = Sachin Tendulkar
3. » Virender Sehwag
4. = Chris Gayle

Question Number : 79 Question Id : 50964710511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafa@aaT & @ TFg Brered & OD| ®ide & U HT #H 37he
gag e T e &7

Options:

1. v QfgT oaAT

2. % gd ﬁ%ﬂt*i
3. » IR T&geT
4. » Topg el

Question Number : 80 Question Id : 50964710512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first Indian to swim across the English Channel?

Options:

1. = Kamaljeet Sandhu
2. v Mihir Sen

3. » Bula Chaudhary
4. = P. Harikrishna

Question Number : 80 Question Id : 50964710512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SPerel Jalel H o dlel Tgel ARG i A7

Options:

1. = FH Sid TY

2. v AT A
3. « golr =ty




4. » I RHSOT

Arithmetic Ability1
Group Number : 5
Group Id : 509647226
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 509647386
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647544
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 50964710513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four bells commence tolling together and toll at intervals of 3,
9, 12 and 18 seconds respectively. In 9 minutes, how many
times do they toll together?

Options:

1. v 16
2. % 27
3. %15



4. %12

Question Number : 81 Question Id : 50964710513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR gfedr AT 3, 9, 12 3T 18 THhs & 3idld I U a1
STl & el &1 9 e A, T Tordal I Tk OTT Folal &7

Options:

1. v 16
2. % 27
3. = 15
4. = 12

Question Number : 82 Question Id : 50964710514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an examination a student must get 38% marks to pass. A
student who gets 180 marks failed by 48 marks. What is the
total marks in that examination?

Options:

1. = 525
2. % 700
3. % 625
4. v 600

Question Number : 82 Question Id : 50964710514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh TIT&T H Teh BT I 3cdlvl &l o oI 38% 37 wIed
Fle BT &1 Th BT S 180 37k WIta HldT &, dg 48 37hl &
3R g ST &1 37 WIS # $er 376 fohcal &7

Options:

1. = 525




2. = 700
3. = 625
4. v 600

Question Number : 83 Question Id : 50964710515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If X/y=3/5 and 8x + 6y= 27, find the value of y.

Options:

1. % 2

2. % 2.25
3. % 2.375
4. v 2.5

Question Number : 83 Question Id : 50964710515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE x [y = 3/5 3T 8 + 6y = 27 &, Al y T AT AT H|

Options:

1. = 2

2. » 2.25
3. = 2.375
4. v 2.5

Question Number : 84 Question Id : 50964710516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation:

(1290f4+4)+8-20x2=7
Options:

1. = 218
2. % 89



3. %90
4. v 25

Question Number : 84 Question Id : 50964710516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATRIOT T g Wl & folv Toq 3T fashed el

(129 of 4 + 4) + 8 - 20 x 2 =7

Options:

1. = 218
2. = 89
3. = 90
4, v 25

Question Number : 85 Question Id : 50964710517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 127

Options:

1. » 987406
2. % 32968
3. ® 45698
4. v 19584

Question Number : 85 Question Id : 50964710517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@&T # @ i O T&ar 12 9 faurea §7

Options:

1. = 98746
2. = 32968
3. = 45698



4. v 19584

Question Number : 86 Question Id : 50964710518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 3?

Options:

1. = 69536
2. » 89365
3. % 69821
4. v 19374

Question Number : 86 Question Id : 50964710518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # @ i O ¥&ar 3 8 99T 87

Options:

1. = 69536
2. = 89365
3. = 69821
4. v 19374

Question Number : 87 Question Id : 50964710519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation:

527 +5.027 + 0.527 + 5.0027 =7

Options:

1. = 5375.567
2. % 5.37557

3. = 53.75567
4. v 537.5567

Question Number : 87 Question Id : 50964710519 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

HATRIOT T g Wl & folv Toq 3T fashew el

527 + 5.027 + 0.527 + 5.0027 =7

Options:

1. = 5375.567
2. = 5.37557
3. » 53.75567
4, v 537.5567

Question Number : 88 Question Id : 50964710520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the greatest number that will divide 30, 66 and 86 and so
as to leave the same remainder in each case.

Options:

1. % 2
2.% 3
3.v4
4. %6

Question Number : 88 Question Id : 50964710520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g% gad a3 O&dT AT & S 30, 66 3T 86 I 30 W&
feniara BT ToF ucdss ATHS # AT AV S|

Options:

1. = 2
2. % 3
3. v 4
4, = 6




Question Number : 89 Question Id : 50964710521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to solve the equation:

(567 +9)of8x27+3+9=7
Options:

1. = 124
2. » 3586
3. = 36585
4, v 4545

Question Number : 89 Question Id : 50964710521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATRIOT HT gol ol & foIv To g 3Tl fashed e |

(567 + 9) of 8 x 2/ + 3 +9 =7

Options:

1. = 124

2. » 3586
3. = 36585
4. v 4545

Question Number : 90 Question Id : 50964710522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least number by which 1800 must be multiplied so
as to make it a perfect square.

Options:

1. v 2
2. % 3
3.x5



4. =7

Question Number : 90 Question Id : 50964710522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I8 T TEIT AT L o garr 1800 = Iom T
SITell g0 difeh 38 Teh qUT el ST ST Hehl

Options:

1. v 2
2. % 3
3. = 5
4., = 7

Question Number : 91 Question Id : 50964710523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The marked price of an article is Rs. 600. A man bought the
same article for Rs. 513, after getting two successive discounts.
If the first discount is 10%, what is the second discount rate?

Options:

1. = 8 percent
2. » 15 percent
3. % 12 percent
4. v 5 percent

Question Number : 91 Question Id : 50964710523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush gEd 1 R F1ad 600 FF &l TR AT o S@AR
ar e fAce & oG Fgr a&q 513 0 # =G IS ugell B
10% &, aF qadl & a¥ 1 &7

Options:

1. = 8 ufderd




2. = 15 gfgera
3. = 12 widera
4. v 5 gigerd

Question Number : 92 Question Id : 50964710524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A restaurant has an average of 250 people visiting on a
Sunday and 130 on other days. What is the average number
of people visiting per day in a month of 30 days beginning
with a Sunday?

Options:

1. = 180
2. v 150
3. = 160
4. % 120

Question Number : 92 Question Id : 50964710524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh ITAT H 3ader 250 afer ITEarR & AT 130 oer 37T
feail # 37 &1 Taaw & o gla arel 30 el & v #gaT A
i fga 3ma arer ae shr 3iad &g T 57

Options:

1. = 180
2. v 150
3. = 160
4. = 120

Question Number : 93 Question Id : 50964710525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The average of 4 numbers is 38. Two of the numbers are 32
and 36. The other two numbers differ by 2. Find the larger
number.

Options:

1. =41
2.v43
3. = 36
4. % 38

Question Number : 93 Question Id : 50964710525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 FEITHT T 3G 38 & 398 O ar g&Iv 32 3T 36 &
T g FEATAHT H 2 &1 AT & F37 T&AT AT hIIT|

Options:

1. = 41
2. v 43
3. = 36
4. = 38

Question Number : 94 Question Id : 50964710526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A batsman scored 120 runs which included 14 fours and 4
sixes. What percent of his runs was scored by running
between the wickets?

Options:

1. = 35 percent
2. % 26.67 percent
3. = 25 percent
4. v 33.33 percent



Question Number : 94 Question Id : 50964710526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Seelslol o 120 T sd9 S98 14 =ik 34T 4 SFah
eMAer 2 Taokel o ST g 38a Tohde wiaera I ad19?

Options:

1. = 35 wfaerd
2. = 26.67 wfcrerd
3. % 25 ofcrerd
4. v 33.33 wfcerd

Question Number : 95 Question Id : 50964710527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of wheat has increased by 25%. By what percent
should a person reduce his consumption of wheat such that
his expenditure remains the same?

Options:

1. v 20 percent
2. % 25 percent
3. = 30 percent
4. = 35 percent

Question Number : 95 Question Id : 50964710527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NG T DIAT H 25% HT JI& g% &1 FhAT STTFT 1 3791 A
FT TUT T hda Ufaerd FH FAT AMEE dIfeh 3TRT T
3oell &1 87

Options:

1. v 20 ufdera
2. = 25 yiderda
3. = 30 vfadera




4. = 35 gfJera

Question Number : 96 Question Id : 50964710528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The price of petrol has increased by 20%. By what percent
should a person reduce his consumption of wheat such that
his expenditure remains the same?

Options:

1. = 25 percent
2. v 16.67 percent
3. = 33.33 percent
4. = 20 percent

Question Number : 96 Question Id : 50964710528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁaﬁw@raﬁmﬁﬁzo%a&rqﬁg‘%hﬁﬁmﬁﬁaﬁm
gl @l TUd & fohdal Ifaeld 8 LT A1gT dlfeh 3EeRT

T AT 37

Options:

1. = 25 ufaera
2. v 16.67 wfcerd
3. = 33.33 ufdera
4. = 20 gfaerd

Question Number : 97 Question Id : 50964710529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A trader sells 2 items at Rs. 9,900 each. He gains 10% on the
first and loses 10% on the second. What 1s the profit or loss
percent on whole?

Options:

1. = 1% profit



2. v 1% loss
3. % 2% loss
4. = Neither profit nor loss

Question Number : 97 Question Id : 50964710529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk SATIRT & gV Tedeh 9,900 9l # Sudm g1 38 T W
10% @ms 3 g@ o 10% e & &1 U FRN # g0
ST AT Mol T UTaerd 4T &7

Options:

1. = 1% o
2. v 1% glfa
3. = 2% BTl
4, = of AT o o Bl

Question Number : 98 Question Id : 50964710530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article was bought for Rs. 2,500. He allows a discount of
10% on the marked price and still gains 20%. Find the marked
price of the article.

Options:

1. = Rs. 3529.10
2. v Rs. 3333.33
3. = Rs. 3666.67
4. % Rs. 3525.15

Question Number : 98 Question Id : 50964710530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk gEq 2,500 30T A LT a5 AT =R REET eg W
10% 7 @< &ar & 31 T #T 20% o WIe haam &1 %
T RIETd Hed AT HITeIC|

Options:

1. = 3529.10 ¥9&
2. v 3333.33 ¥4
3. = 3666.67 ¥4I
4. = 3525.15 ¥4

Question Number : 99 Question Id : 50964710531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sam purchased 15 dozen of toys at the rate of Rs. 552 per
dozen. He sold each one of them at Rs. 52. What is his profit
or loss percent?

Options:

1. = 13.04% loss
2. = 12.05% profit
3. % 12.05% loss
4. v 13.04% profit

Question Number : 99 Question Id : 50964710531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 & 552 9 ufa goldd T 2T & 15 gold el TR
3cgld 38 O Ucdeh ol §9T 52 H ST| 3T ofTH AT el T
gfcrera 2 §7

Options:

1. » 13.04% gfar
2. % 12.05% omH
3. = 12.05% glfel




4. v 13.04% oM

Question Number : 100 Question Id : 50964710532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If6A=9B=12C,thenfindA:B:C

Options:

1. = 3:4:6
2. v 6:4:3
3. % 4:3:6
4, % 1:2:3

Question Number : 100 Question Id : 50964710532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife 6A = 9B = 12C, aF A:B:C AT I

Options:

1. = 3:4:6
2. v 6:4:3
3. = 4:3:6
4, = 1:2:3

Arithmetic Ability2
Group Number : 6
Group Id: 509647227
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability?2

Section Id : 509647387

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647545
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 50964710533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a:b = 9:7 and b:c = 85, then what is a:b:c =?
Options:

1. = 56:72:35
2. % 45:35:40
3. % 63:72:45
4. v 72:56:35

Question Number : 101 Question Id : 50964710533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i atb = 9:7 3iX b:c = 85 &, dra: b: ¢ = a7 &7

Options:

1. = 56:72:35
2. % 45:35:40
3. ® 63:72:45
4. v 72:56:35

Question Number : 102 Question Id : 50964710534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Seats for Economics, Maths and Chemistry in a college is in
the ratio of 2:3:5. There is a proposal by the Board to increase
these seats by 25%, 50% and 20% respectively. What will be
the ratio of the increased seats?

Options:

1. v 5:9:12
2. % 12:9:5
3. % 6:15:7
4, % 7:9:5

Question Number : 102 Question Id : 50964710534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh ehiolel H TARMET, 0T 3T TR [TaA & Tolv Hid 2:3:
5 & 3quId # g1 S5 ZgRT 3o HIET I FAM: 25%, 50% 3T
20% Tk STl T U &l el aa‘é. HIeT T e[ AT BRI?

Options:

1. v 5:9:12
2. % 12:9:5
3. = 6:15:7
4. = 7:9:5

Question Number : 103 Question Id : 50964710535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person invest Rs. 1000 in an investment where interest is
compounded annually. If after 2 years, he gets back Rs.
1144.9, then what is the rate of interest?

Options:

1. » 6 percent
2. v T percent
3. = 5 percent



4. = 4 percent

Question Number : 103 Question Id : 50964710535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TToFd Tk ArelaT H 1000 &9IT T foder &3ar &, Sgr
SqToT alyeh ¥9 & Tlfold 8IAT §1 IS 2 ay &1, 39 1144.9
T fHerd & a6 sgreT $T &T 4 &7

Options:

1. = 6 gicrerd
2. v 7 wfcrerd
3. = 5 ufdera
4. = 4 giaerd

Question Number : 104 Question Id : 50964710536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X took a loan of Rs. 2000 with simple interest for as many
years as the rate of interest. If he paid Rs. 980 as interest at
the end of the period, what was the rate of the interest?

Options:

1. = 5 percent

2. % b percent
3. v 7 percent
4. = 8 percent

Question Number : 104 Question Id : 50964710536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X & AT HT T & T H F3 g9 & 0 GraRor O |
2000 394t 1 FOT Toram| AT 3@a 3G o 3d H STl +
T A 980 TUAT KT ITcTe foraT, A ST v & F1 42

Options:




x 5 yfcerd
x 6 yfderd
7 ufcrera
x 8 gfaerd

Question Number : 105 Question 1d : 50964710537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a 50% increase in an amount in 5 years at simple
interest. What will be the compound interest of Rs. 8000 after
3 years at the same rate?

Options:

1. = Rs. 2560
2. v Rs. 2648
3. % Rs. 2728
4. » Rs. 2884

ol
<

Question Number : 105 Question Id : 50964710537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTYROT &ATs7 9 5 a9 & FraT gafr & 50% Hr gfg ardr &
34T &X W 3 a¥ 1 8000 $UAT T Ashgie sATST FAT BEIT?

Options:

1. = 2560 ¥
2. v 2648 ¥4I
3. = 2728 ¥4I
4. = 2884 T

Question Number : 106 Question Id : 50964710538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A pgun is fired at a distance of 2.73 km away from Sanjay. He
hears the sound 13 seconds late. What is the speed of the
sound?

Options:

1. = 0.025 km/sec
2. v 210 m/sec
3. = 250 m/fsec
4. = 0.021km/sec

Question Number : 106 Question Id : 50964710538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H 2.73 km T Ueh sgeh T ditell el Sial &l a8 13
Wehg AT @ 3TaTSl HoldT §| ediel hr aifer a7 &7

Options:

1. = 0.025 km/sec
2. v 210 m/sec
3. # 250 mfsec
4. = 0.021km/sec

Question Number : 107 Question Id : 50964710539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man completes a journey in 8 hours. He travels first half of
the journey at 24 km/h and the second half at 32 km/h. Find
the total journey.

Options:

1. v 219.43 km
2. % 225 km
3. % 223.57 km
4, = 220 km



Question Number : 107 Question Id : 50964710539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk GHAT 8 8¢ # Ueh ITAT [T LT &1 T& ITAT T Igell
3T AET 24 km/h 3 GERT 34T #HET 32 km/h 1 afd & o
AT &1 el AT AT IS0

Options:

1. v 219.43 km
2. % 225 km
3. = 223.57 km
4. = 220 km

Question Number : 108 Question Id : 50964710540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T YeEmsr 96 km/h T AT & AT FIAT & STk GERT
ToramsT 36 m/s hr af @ AT HIAT §1 T T & foig WY UE
L &1 300 HhS & §IG 3eleh s =T G AT FY

Options:

1. = 700 m
2. 1400 m
3. = 2100 m
4. v 2800 m

Question Number : 108 Question Id : 50964710540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train travels at a speed of 96 km/h while another train
travels at a speed of 36 m/s. They start at the same point. Find
the distance between them after 300 seconds.

Options:

1. = 700 m



2. % 1400 m
3. = 2100 m
4. v 2800 m

Question Number : 109 Question Id : 50964710541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P takes 10 days to complete a piece of work while () takes 15
days to complete the same work. They worked together for 3
days and then Q left the work. How many days will P take to
complete the work?

Options:

1. = 4 days
2. = 8 days
3. v 5 days
4. = 6 days

Question Number : 109 Question Id : 50964710541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P &Y Ush TH I [T e A 10 & o6 & Stafeh Q I 34T
FHH BT QW A A 15 T o9 &1 3eaia 3 Al I @rey
STH TordT 3T T Q o STH BI5 f&aT P &1 a8 w1H g
Flel H Tohctal ToeT w@Ial?

1p.w4ﬁ?r

2. = 8 Ta

3. v 5 e

4. = 6 &7

Question Number : 110 Question Id : 50964710542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Binita & Disha can complete a task in 38 days while Anita,
Binita & Disha can complete the task in 19 days. In how many
days can Anita complete the task alone?

Options:

1. = 29 days
2. * 19 days
3. = 48 days
4. v 38 days

Question Number : 110 Question Id : 50964710542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafier 3i feorm 38 faell # Ueh FTH [T T Fehall § e lh
airdr, Toeliar 3 &= ag +# 19 f&al # o1 T Fhal gl
AT 37ehel Tohclal Taoll # T8 TH T HT Fohall &7

Options:

1. = 29 feaT
2. % 19 faaT
3. * 48 el
4. v 38 ot

Question Number : 111 Question Id : 50964710543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Varun is four times as good a workman as Arun and takes 60
days less than Arun. In how many days can they do the work
by working together?

Options:

1. = 14 days
2. v 16 days
3. = 12 days




4. = 10 days

Question Number : 111 Question Id : 50964710543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEUT, 37%UT kI Tolell H TN T ST hARK g 3T %07 &
60 g7 FH oldT &1 Uk HTY FTH s I fohaa ol # FIH

T FT Fhd 87

Options:

1. = 14 &
2. v 16 feat
3. % 12 T
4, % 10 Tt

Question Number : 112 Question Id : 50964710544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of the side of square is (x+1) and that of an
equilateral triangle be 3x. If the perimeter of the triangle and
square 1s same, what is the value of x?

Options:

1. = 2
2. v 4/5
3. % 3/4
4 =4

Question Number : 112 Question Id : 50964710544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToT T 31T T @S (x + 1) & 3T TASTE st Hr efaTm Hr
oS 3x g1 Ife Feget AT aet 1 aRAT @A &, ar x #

HATeT T &7

Options:




1. = 2
2. v 4f5
3. = 3/4
4. = 4

Question Number : 113 Question Id : 50964710545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the percentage increase in the area of a rectangle if
one of its sides is increased by 30% and the other side is
decreased by 20%?

Options:

1. v 4 percent
2. % b percent
3. = 8 percent
4. = 10 percent

Question Number : 113 Question Id : 50964710545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT & 9ol H el gig Far grelr Ife suF vk e
30% ST ST § 3R gET oS F 20% =T ST §7

Options:

1. v 4 gicerda
2. = 6 gfaerd
3. = 8 yfererd
4. = 10 ufaera

Question Number : 114 Question Id : 50964710546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




. 2 . .
The surface area of a sphere is 616 cm . What is the diameter
of the sphere?

Options:

1.+ 14 cm
2. % 28 cm
3. % 24 cm
4, %7 cm

Question Number : 114 Question Id : 50964710546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i
T el & GG T &96d 616 cm  § | 38 el 1 I F41

g7

Options:

1. v 14 cm
2. % 28 cm
3. » 24 cm
4. = 7 cm

Question Number : 115 Question Id : 50964710547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table gives year wise outlay in lakhs of rupees
in a certain 5-year plan (2012-17) of a state. What was the
percentage increase during 2015-16 over 2014-15 in social
welfare outlay?

Transport

and

Commun [Educatio Social
Years ication [n Health |Welfare
2012-13 56210 75450 9500 2000
2013-14 71250 80650 10150 2500
2014-15 73550 61200 11000 3250
2015-16 74100 75250 12250 4000
2016-17 80250 20500 19500 6500

Options:

1. = 22.5 percent

2. v 23.08 percent
3. % 26.28 percent
4. = 27.12 percent

Question Number : 115 Question Id : 50964710547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToTeT dTTelhT Ueh oA @l Ueh Toifedd 5 s Jietell (2012-
2017) & om@r 39 # Vg 9Negg #H gRITdr &1 ATATels
FeIToT gREdT & 2014-2015 9T 2015 -16 & aRTe ufaerd
gig ar 4

aftag

R HHATA®
aut TaR  |[fem |sarem | deamn
2012-13 56210 75450 9500 2000
2013-14 71250 20650 10150 2500
2014-15 73550 61200 11000 3250
2015-16 74100 15250 12250 4000
2016-17 30250 90500 19500 6500

Options:



1. = 22.5 gfaerd
2. v 23.08 ufdera
3. = 26.28 wfcerd
4. = 27.12 gfderd

Question Number : 116 Question Id : 50964710548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pie chart shows the distribution of the overseas tourist
from India. If the number of Indian tourist visiting New
Zealand is 10,000 more than the number of Indian tourist
visiting England, then what is the number of Indian tourist
visiting Japan?

Distribution of Overseas Tourist from India

Australla
10%

Options:

1. = 12000
2. v 15000
3. = 10000
4. % 25000

Question Number : 116 Question Id : 50964710548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TE IS A5 AR [Ager STe arel wiewt & AaIur i geltar &
| Tfe ATeilels SiTel arel AT GACh! hl TTEAT Fdais el
grel TR 9Aceh! hl IT&ar & 10,000 31f9eR &, ar Srare
Mot dTel ARG YACh! hl TTEAT AT &7

Options:

1. = 12000
2. v 15000
3. = 10000
4. = 25000

Question Number : 117 Question Id : 50964710549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The pie chart shows the revenue and various expenses for a
firm for the year 2018. What is profit margin?

Revenue and various expenses for a
firm for the year 2018

Interest
Delivery charges, 100
charges, 150

Rent, 100

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.0.125
2.0.15
3.0.175
4.0.2

Question Number : 117 Question Id : 50964710549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Jg U T gy 2018 F O v ®F & v geem 3
faffiesr Tl T geiTar &1 3ThT o1 HiTolel 4T &7

¥ 2018 ¥ v v o F AT
ey 3t Afes =

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 0.125
2. 0.15
3. 0.175
4. 0.2

Question Number : 118 Question Id : 50964710550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following chart shows advertising expenses of a company
across various platforms. In which year and in which
platform did the cost grow by a maximum percent ?

¥ Print =TV = Radic
6000
'E 4890
7 5000 4400
!. = 4000 - 3645 3510
b E-m 2450 e
3
% 2000 Ilm 1100 Insu
1000
Bl | 5 N
2016 2017 2018
Year

Options:



1. v Radio- 2016 to 2017
2. % TV- 2017 to 2018
3. = TV- 2016 to 2017
4. = Print- 2016 to 2017

Question Number : 118 Question Id : 50964710550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafai@a Tt e elcwd # Uk FUar & e Tx
T Z2ATAT &1 Tord gy 3T FT Tole®mda #A I§ oREd ATUhdd
gfaerd & FeI7?

Sy S Nt
] s -
5000 - 4400
4000 | 3645 3510
952
F 3000 - 450
2000 -
E Im Illm 150
F 1000 il I
g 0 : Ll .
2016 2017 2018
Lo

Options:

1. v ISA- 2016 & 2017
2. = &dr- 2017 & 2018
3. = gar- 2016 & 2017
4. = BI- 2016 & 2017

Question Number : 119 Question Id : 50964710551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The histogram shows the trends of Foreign Portfolio
Investment (FPI) (in Rs. Billion) into India from all over the
world for different years. What is the rate of growth of FPI
from 2013-14 to 2015-16?

Foreign Portfolio Investment
(FPI) into India from all over

the world
s IRRERIERER

620
5B0
420
325
250

Options:

1. 1.1
2.% 1.5
3. % 1.28
4, v 1.32

Question Number : 119 Question Id : 50964710551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



7g sty faffea ot & Qv gfomr sw & sa A fadeh
qIewIferY foder (FPI) (3R §9F #) & AT &l [Ear &
2013 -14 & 2015 -16 T FPI| &7 gig T a1 &7

420
325

.150

2016-2017 2014-2015 2013-2014
2017-2018 20152016 2012-2013

EL]

T fer @ WA 0 fadd

o B (FPI)

-BEEE88ES

Options:

1. % 1.1
2. % 1.5
3. % 1.28
4. v 1.32

Question Number : 120 Question Id : 50964710552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The line graph shows the monthly productionof cycles of two
companies. What is the difference between the total
production of two companies in the given months?

= Com P =——Com Q
. 20 pany pany
2
v 158
150 139
Eg 120 A 128 12 148
02
& 10 119
< & %9 100 . 107
£ E 50
T
i
& la Feb Mar Apr May Jun
Month




Options:

1. = 24
2.v 206
3. % 30
4. % 32

Question Number : 120 Question 1d : 50964710552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jg TET ATFE &F HYAAl o TSRl & AT 3cUTEe hl 0T
gl fou v FEEt & & Fufedl & el Scues # FIT 3R 7

Em

F 150

E 100 -

:

% 50 T8

.ﬁ )

Ao wREd AN wilw wE Ed
A
Options:
1. = 24
2. v 26
3. = 30
4. = 32
General English1
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Question Number : 121 Question 1d : 50964710553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) My tutor/ (B) comes/ (C) five days week./ (D) No error

Options:

1. = A
2.% B
3.v(C
4. =D

Question Number : 121 Question Id : 50964710553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) My tutor/ (B) comes/ (C) five days week./ (D) No error

Options:

1. = A
2. » B
3. v C
4. = D

Question Number : 122 Question 1d : 50964710554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) Simran packed/ (B) her dresses/ (C) neat/ (D) No error

Options:

1. = A
2.% B
3.v(C
4. =D

Question Number : 122 Question Id : 50964710554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) Simran packed/ (B) her dresses/ (C) neat/ (D) No error

Options:

1. = A
2. » B
3. v C
4. = D

Question Number : 123 Question 1d : 50964710555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) It being a rainy day, / (B) the boys decided / (C) not to go
out and play./ (D) No error

Options:

1. = A
2. % B
3.5 C
4.vD

Question Number : 123 Question 1d : 50964710555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) It being a rainy day, / (B) the boys decided / (C) not to
go out and play./ (D) No error

Options:

1. = A
2. = B
3. = C
4. v D

Question Number : 124 Question Id : 50964710556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

{A) As the interview was about to end / (B) Raman insisted to
ask / (C) few more questions. / (D) No error

Options:

1.« A
2.v DB
3.5 C
4, %]



Question Number : 124 Question Id : 50964710556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) As the interview was about to end / (B) Raman insisted

to ask / (C) few more questions. / (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 125 Question Id : 50964710557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) The reason Ankita/ (B) is absent in the class/ (C) is because
she is unwell./ (D) No error

Options:

1.vA
2.« B
3.



4. %D

Question Number : 125 Question Id : 50964710557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) The reason Ankita/ (B) 1s absent in the class/ (C) Is

because she i1s unwell./ (D) No error

Options:

1. v A
2. = B
3. C
4. = D

Question Number : 126 Question Id : 50964710558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

The teacher said that the earth (has been revolving) around
the sun.

Options:

1. = had been revolving
2. » has revolved

3. v revolves

4. = had revolved

Question Number : 126 Question Id : 50964710558 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

The teacher said that the earth (has been revolving) around

the sun.

Options:

1. * had been revolving
2. * has revolved
3. ¢ revolves

4. = had revolved

Question Number : 127 Question Id : 50964710559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

It has been raining (from) day before yesterday.

Options:

1. = before
2. » With

3. = between
4. v since

Question Number : 127 Question Id : 50964710559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

It has been raining (from) day before yesterday.



Options:

1. = before
2. % with
3. = between

4. ¢ since

Question Number : 128 Question Id : 50964710560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Though Shiksha was exhausted (but) she went to school.

Options:

1. » even
2. v yet

3. = 1f

4. = when

Question Number : 128 Question Id : 50964710560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Though Shiksha was exhausted (but) she went to school.

Options:

1. = even
2. v yet
3. = |f

4. = when



Question Number : 129 Question Id : 50964710561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Shamita is the (most prettiest) girl in the class.

Options:

1. * most pretty
2. v prettiest
3. * more pretty
4. = prettier

Question Number : 129 Question 1d : 50964710561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Shamita I1s the (most prettiest) girl In the class.

Options:

1. = most pretty
2. v prettiest
3. ®= more pretty
4, = prettier

Question Number : 130 Question Id : 50964710562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Shweta denied to go (till Ravi arrives).

Options:

1. v unless Ravi arrived



2. = until Ravi arrives
3. = till Ravi has arrived
4. = till Ravi arrives

Question Number : 130 Question Id : 50964710562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Shweta denied to go (till Ravi arrives).

Options:

1. v unless Ravi arrived
2. % until Ravi arrives
3. % till Ravi has arrived

4. = till Ravi arrives

Question Number : 131 Question Id : 50964710563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Mr. Bose congratulated Rakesh getting the scholarship.

Options:

1. v for
2. % 10
3. % at
4. = with

Question Number : 131 Question Id : 50964710563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with an appropriate preposition.

Mr. Bose congratulated Rakesh getting the

scholarship.

Options:

1. v for
2. = to
3. » at
4. = with

Question Number : 132 Question Id : 50964710564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Rashi to Bombay but she will be back in a month.

Options:

1. v has gone

2. = 13 gone

3. = 13 being gone

4. = have been going

Question Number : 132 Question Id : 50964710564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Rashi to Bombay but she will be back in a month.

Options:

1. v has gone




2. ® IS gone
3. = I1s being gone
4, = have been going

Question Number : 133 Question 1d : 50964710565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Ben the work yesterday.

Options:

1. = will be completing
2. v has completed

3. = will complete

4. = 1s completing

Question Number : 133 Question Id : 50964710565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Ben the work yesterday.

Options:

1. = will be completing

2. v has completed
3. * will complete
4. = 1s completing

Question Number : 134 Question Id : 50964710566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct form of verb from the given options.

Raj his baggage for the trip.

Options:

1. = will packed
2. v has packed
3. » was packed
4. = pack

Question Number : 134 Question Id : 50964710566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct form of verb from the given options.

Raj his baggage for the trip.

Options:

1. = will packed
2. v has packed
3. = was packed

4. = pack

Question Number : 135 Question Id : 50964710567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Seven two makes nine.

Options:

1. = on
2. ® With
3. vand



4, = to

Question Number : 135 Question Id : 50964710567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

Seven two makes nine.

Options:

1. = on
2. = with
3. v and
4. % 1o

Question Number : 136 Question 1d : 50964710568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

The book is lying the table.

Options:

1. = with
2. % at
3. = 1In
4. v 0N

Question Number : 136 Question Id : 50964710568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

The book 1s lying the table.

Options:




1. = with
2. = at
3. % 1In
4. v on

Question Number : 137 Question Id : 50964710569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

There was an increase college fees this year.

Options:

1. v 1n
2. % at
3. % on
4. = with

Question Number : 137 Question Id : 50964710569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with an appropriate preposition.

There was an Increase college fees this year.

Options:

1. v In
2. % at
3. % 0on

4. = with

Question Number : 138 Question 1d : 50964710570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with an appropriate preposition.

My brother swims every day the summer.

Options:

1. = from

2. *» through
3. v during
4. = within

Question Number : 138 Question Id : 50964710570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with an appropriate preposition.

My brother swims every day the summer.

Options:

1. = from

2. = through
3. v during
4. = within

Question Number : 139 Question Id : 50964710571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts of a
sentence. Out of the four options given, select the most logical
order of the parts which form a coherent sentence.

Sachin’s retirement

P : in his interviews

(Q : his interest in the game
R : as is obvious

S : has not reduced

Options:

1. = RQSP
2. v SQRP
3. = RSQP
4. = PSRQ

Question Number : 139 Question Id : 50964710571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question given below consist of a set of labelled parts
of a sentence. Out of the four options given, select the
most logical order of the parts which form a coherent

sentence.

Sachin's retirement

P : In his Interviews

Q : his Interest In the game
R : as I1s obvious

S @ has not reduced

Options:



1. = RQSP
2. v SQRP
3. *= RSQP
4. = PSRQ

Question Number : 140 Question Id : 50964710572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question given below consist of a set of labelled parts of a
sentence. Out of the four options given, select the most logical
order of the parts which form a coherent sentence.

A glasshouse Is a:

P : requiring regulated conditions are grown
() : structure with walls and

R : roof made chiefly of

S :transparent material in which plants

Options:

1. = RQSP
2. * PSQR
3. = RSPQ
4. v QRSP

Question Number : 140 Question Id : 50964710572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question given below consist of a set of labelled parts
of a sentence. Out of the four options given, select the
most logical order of the parts which form a coherent

sentence.

A glasshouse Is a:

P : requiring regulated conditions are grown
Q : structure with walls and

R : roof made chiefly of

S : transparent material in which plants

Options:
1. = RQSP
2. = PSQR
3. » RSPQ
4. v QRSP
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Question Number : 141 Question Id : 50964710573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question below consist of a set of labelled sentences. Out
of four options given, select the most logical order of the
sentences which form a paragraph.

The President who understood best the need for organised
disagreement was probably Franklin D. Roosevelt.

P : Whenever anything of importance came up, he would take
aside one of his aides and say to him "I want you to work on
this for me, but keep it a secret.”

( : As a result he could be reasonably certain that all
important aspects of every matter were through and
presented to him well that everybody in Washington heard
about it immediately.

R : Then Roosevelt would take aside a few other men, known
to differ from the first and would give them the same
assignment, again in "strictest confidence”.

S : This made sure, as he knew perfectly, that everybody got
to know about it.

He could be certain that he would not become the prisoner of
somebody’s preconceived conclusions.

Options:

1. = QPSR
2. = POQRS
3. = QRSP
4. v PRSQ

Question Number : 141 Question Id : 50964710573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The question below consist of a set of labelled sentences.
Out of four options given, select the most logical order of

the sentences which form a paragraph.

The President who understood best the need for organised
disagreement was probably Franklin D. Roosevelt.

P : Whenever anything of importance came up, he would
take aside one of his aides and say to him "l want you to
work on this for me, but keep it a secret."

Q : As a result he could be reasonably certain that all
Important aspects of every matter were through and
presented to him well that everybody in Washington heard
about It Immediately.

R : Then Roosevelt would take aside a few other men,
known to differ from the first and would give them the
same assignment, again in "strictest confidence".

S : This made sure, as he knew perfectly, that everybody
got to know about it.

He could be certain that he would not become the prisoner

of somebody's preconceived conclusions.

Options:

1. » QPSR
2. = PQRS
3. = QRSP



4. v PRSQ

Question Number : 142 Question Id : 50964710574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Masticate

Options:

1. = Sit

2. % Stare
3. = Stand
4. v Munch

Question Number : 142 Question Id : 50964710574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Masticate

Options:

1. = Sit

2. = Stare
3. = Stand
4. v Munch

Question Number : 143 Question Id : 50964710575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Contempt

Options:

1. = Reveal

2. » Praise

3. = Start

4. v Disregard

Question Number : 143 Question Id : 50964710575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the meaning of the given word.

Contempt

Options:

1. = Reveal
2. = Praise
3. % Start

4. v Disregard

Question Number : 144 Question Id : 50964710576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the meaning of the given word.

Squalid
Options:

1. v Dirty



2.« Clean
3. » Mock
4. = Praise

Question Number : 144 Question Id : 50964710576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QOut of the four alternatives, choose the word which best

expresses the meaning of the given word.

Squalid

Options:

1. v Dirty
2. # Clean
3. = Mock

4. = Praise

Question Number : 145 Question Id : 50964710577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 18
OPPOSITE in meaning to the given word.

Delicate

Options:

1. = Flexible
2. v Tough
3. = Soft

4. %= Fine

Question Number : 145 Question Id : 50964710577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Delicate

Options:

1. = Flexible
2. v Tough
3. # Soft
4. = Fine

Question Number : 146 Question Id : 50964710578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is
OPPOSITE in meaning to the given word.

Guile
Options:

1. v Honesty
2. » Violent
3. = Desert
4. = Greed

Question Number : 146 Question Id : 50964710578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Guile

Options:



1. v Honesty
2. = Violent
3. # Desert
4. = Greed

Question Number : 147 Question Id : 50964710579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Conduet
2. v Conduit
3. = Condute
4. = Conduat

Question Number : 147 Question 1d : 50964710579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Conduet
2. v Conduit
3. = Condute
4. = Conduat

Question Number : 148 Question 1d : 50964710580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:



1. = Sacreligous
2. = Sacreligious
3. ® Sacrelegious

4. v Sacrilegious

Question Number : 148 Question Id : 50964710580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. = Sacreligous

2. = Sacreligious
3. = Sacrelegious
4. v Sacrilegious

Question Number : 149 Question 1d : 50964710581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. v Abstinence
2. » Abstenince
3. = Abistence
4. = Abstinece

Question Number : 149 Question Id : 50964710581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:



1. v Abstinence
2. = Abstenince
3. #= Abistence
4. = Abstinece

Question Number : 150 Question Id : 50964710582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Milk and water

Options:

1. v If someone’s suggestions or ideas are weak.

2. = If someone’s suggestions or ideas are other’'s ideas.

3. = If someone is dependent on another for their livelihood.
4. = If someone’s suggestions or ideas are impactful.

Question Number : 150 Question Id : 50964710582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What does the following idiom mean?

Milk and water

Options:

1. v If someone's suggestions or iIdeas are weak.
2. » |f someone's suggestions or ideas are other's ideas.
3. = If someone I1s dependent on another for their livelihood.

4, = |f someone's suggestions or ideas are impactful.

Question Number : 151 Question 1d : 50964710583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the following idiom mean?

Break a leg

Options:

1. = Bad luck
2. v Good luck
3. = Start over
4. = GO to sleep

Question Number : 151 Question Id : 50964710583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Break a leg

Options:
1. = Bad luck
2. v Good luck

3. = Start over

4. = (o to sleep

Question Number : 152 Question Id : 50964710584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Muster in force

Options:

1. = To seek out faults in someone.

2. v To make great arrangements and efforts, usually to
prepare for an attack or event.



3. » To assemble in large numbers.
4. = To provoke someone to fight.

Question Number : 152 Question Id : 50964710584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Muster In force

Options:
1. = To seek out faults In someone.
2. v To make great arrangements and efforts, usually to

prepare for an attack or event.
3. = To assemble In large numbers.

4, = To provoke someone to fight.

Question Number : 153 Question 1d : 50964710585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

A system of government by one person with absolute power

Options:

1. v Autocracy

2. = Aristocracy
3. = Democracy
4. = Bureaucracy

Question Number : 153 Question Id : 50964710585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

A system of government by one person with absolute power

Options:

1. v Autocracy
2. % Aristocracy
3. » Democracy
4.

* Bureaucracy

Question Number : 154 Question Id : 50964710586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

A collection of beehives.

Options:

1. = Aviary
2. » Archive
3. » Abattolr
4. v Aplary

Question Number : 154 Question Id : 50964710586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

A collection of beehives.

Options:

1. = Aviary
2. = Archive
3. = Abattoir
4. v Apiary

Question Number : 155 Question Id : 50964710587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the given
words/sentence.

A person controlled by his wife.

Options:

1. v Henpecked
2. = Introvert
3. = Fatalist

4. » Gourmand

Question Number : 155 Question Id : 50964710587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the given

words/sentence.

A person controlled by his wife.

Options:

1. v Henpecked
2. % Introvert
3. = Fatalist
4

x Gourmand

Sub-Section Number: 2
Sub-Section 1d: 509647548
Question Shuffling Allowed : Yes

Question Id : 50964710588 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Read the passage carefully and answer the given question.

The most vulnerable part of society to drugs are adolescents -
the students in high schools and colleges. In order to merely
try new and adventurous things or under peer pressure or
many a times imitating the actions of their favourite stars -
children get caught into the vicious cycle of drug intake,
unknowingly and innocently. Gradually, they get habitual
and what had initially started off as fun and adventure
becomes their need and compulsion. By the time they realise,
it 1s too late for them to break away without any outside help.
The addiction becomes chronic because the adventurer starts
hiding it due to parental fear and social stigma. Thus, the
addict struggles all alone even if he/she wants to break {ree
but fails in all his/her attempts.

Sub questions

Question Number : 156 Question Id : 50964710589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the most apt title for the passage?

Options:

1. = Peer pressure
2. v Drug Abuse
3. » Parental Fear
4. = Students life

Question Number : 157 Question Id : 50964710590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not one of the reasons for children
to get caught into the vicious circle of drug intake?

Options:

1. = To try new or adventurous things.



2. = Under peer pressure.
3. v Due to parental fear.
4. = Imitating the actions of their favourite stars.

Question Number : 158 Question Id : 50964710591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which part of society is the most vulnerable to drugs?

Options:

1. v Students
2. » Fllm stars
3. = Adults

4. = Parents

Question Number : 159 Question Id : 50964710592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the adventure of drug intake become chronic?

Options:

1. = They started it due to peer pressure.

2. = It's too late for them to break free.

3. v The drug taker starts hiding it due to parental pressure.
4. = They get habitual to drugs.

Question Number : 160 Question Id : 50964710593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author why does a drug addict struggle?

Options:

1. = The addict doesn’t want to break free.
2. » The addict enjoys it.

3. » The addict is under peer pressure.

4. v The addict hides it due to parental fear.

Question Id : 50964710588 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension

Read the passage carefully and answer the given question.

The most vulnerable part of society to drugs are
adolescents - the students in high schools and colleges. In
order to merely try new and adventurous things or under
peer pressure or many a times imitating the actions of their
favourite stars - children get caught into the vicious cycle of
drug intake, unknowingly and innocently. Gradually, they get
habitual and what had initially started off as fun and
adventure becomes their need and compulsion. By the time
they realise, It I1s too late for them to break away without
any outside help. The addiction becomes chronic because
the adventurer starts hiding it due to parental fear and
soclal stigma. Thus, the addict struggles all alone even If

he/she wants to break free but fails in all hisfher attempts.

Sub questions

Question Number : 156 Question Id : 50964710589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the most apt title for the passage?

Options:

1. = Peer pressure
2. v Drug Abuse
3. = Parental Fear
4

. % Students life



Question Number : 157 Question 1d : 50964710590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Is not one of the reasons for children

to get caught into the vicious circle of drug intake?

Options:

1. = To try new or adventurous things.
2. = Under peer pressure.
3. v Due to parental fear.

4. = |Imitating the actions of their favourite stars.

Question Number : 158 Question Id : 50964710591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which part of society i1s the most vulnerable to drugs?

Options:

1. v Students
2. = Film stars

3. = Adults

4. = Parents

Question Number : 159 Question Id : 50964710592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the adventure of drug intake become chronic?

Options:

1. = They started it due to peer pressure.
2. = lt's too late for them to break free.
3. v The drug taker starts hiding it due to parental pressure.

4. = They get habitual to drugs.

Question Number : 160 Question Id : 50964710593 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

According to the author why does a drug addict struggle?

Options:

1. = The addict doesn't want to break free.
2. » The addict enjoys It.
3. *= The addict 1s under peer pressure.

4, v The addict hides It due to parental fear.
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Question Number : 161 Question Id : 50964710594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MyTeldd 7 ¥, IR Tadetl # €, 39 [ddheT & 9= & 51t SU9T S &1 8
|

Options:

1. * Mrell
2. % qIac
3. v g

4, * giedT

Question Number : 161 Question 1d : 50964710594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = for=relr
2. * TIdc
3. v Oud
4. « i

Question Number : 162 Question 1d : 50964710595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v 9g%
2. % 3Tl
3. % glel
4, % HIHTL

Question Number : 162 Question Id : 50964710595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.Jiclﬁl1é'

% Jalell

2.
3. % T
4. % AT

Question Number : 163 Question Id : 50964710596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = I STTeT
2. v 3T

3. =X

4. % q

Question Number : 163 Question Id : 50964710596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = & SITST
2. v 3R



3. + W
4. = 4

Question Number : 164 Question 1d : 50964710597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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GHEE

Options:

1. = SefdT
2. v et
3. = ToorerT
4, % TeldTl

Question Number : 164 Question Id : 50964710597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = STolall
2. v Torererar
3. = Togerer
4. % 3Tl

Question Number : 165 Question 1d : 50964710598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4, * 3R

Question Number : 165 Question Id : 50964710598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ ageniels

2. % YEAYL
3. & T
4. = 397

Question Number : 166 Question Id : 50964710599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4. % G Y HY

Question Number : 166 Question 1d : 50964710599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed #, IR Aedr # &, 39 TFed FT TTT

St @Er feger qAE & fawen &l

Options:

1. = oTol & ST Sl
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3. * 3R I o
4. = 4G F AO

Question Number : 167 Question Id : 50964710600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » 3radr
2. % Irraud
3. » Mg
4, v T

Question Number : 167 Question 1d : 50964710600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question 1d : 50964710601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. *» M%_T ara®
2. % Y IqTIh
3. * 3O [T
4. v FSaE®

Question Number : 168 Question 1d : 50964710601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = ToeTg g

2. « O dTdeh
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4. v Ta<areh



Question Number : 169 Question Id : 50964710602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » JAMTET GEATO=ID
2. v T d YA

3. * TUETA®

4. * GEATITTD

Question Number : 169 Question Id : 50964710602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » MaTead T&IAF
2. v IaATead IRAES

3. = JUTdI<h
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4. = HEATETIF

Question Number : 170 Question Id : 50964710603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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oTeAT Yol [ardheT il

4T o J&deh ¥ gD I ol Tl

Options:



1. = STAET

2. % TgenHen TshaT
3. v Tedlieln TshaT
4. » Ped

Question Number : 170 Question Id : 50964710603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et @d ueel H, IX Thedl A &, 39 [TFed FT ITAT M
ST ToRaT o $1E arelr @l Tdehed gl

AT o TEh T ¢EHRT 3caT Terar|

Options:

1. = F‘lmﬂ'l_njln'
2. = feamaes foram
3. v YaehTioeh feham

4. % Fad

=

Question Number : 171 Question Id : 50964710604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgferad vy §, o aeeut #§ ¥, 39 ey &1 a7 o S ey e

BT oI 3T [ddheT 2l

SN

Options:

1. = 3@
2. % Taq
3. % Ty
4. v GhT

Question Number : 171 Question Id : 50964710604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
Sl TdellH eleg T Hed 3Tl Tdehed &l

3ald

Options:

1. = 3d

2. = ddd
3. = &
4. v GhTOT

Question Number : 172 Question Id : 50964710605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYl d U7 ¥, IR [ddedl § ¥, 39 [dheT & aIT He ST GATATT U6

T Gg! [ddeT a1 gl
3O

Options:

1. % 3fTAd
2. v T
3. * 34
4, = 3T

Question Number : 172 Question Id : 50964710605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST TATATAT eee T T8l [Aheq T8l &

KEINIG

Options:



v faera
el

ol
#®

% 3N

Question Number : 173 Question 1d : 50964710606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fytor@d v 7, o Aaeu § 9, 39 Raew & ag= o S @il e
& ToiT ST [aweT gl

AT gl AT eIl a1 gl

Options:

1. = 3TPIT
2. % ITEATRY
3. = TgXY
4, v TRy

Question Number : 173 Question 1d : 50964710606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFeT FT TTT M
S IEIera osg & ToIv 3T TFeq &l

SART L EUREGEEERGICES

Options:

1. = 3R

2. = 3EAEY
3. TOEY
4



Question Number : 174 Question Id : 50964710607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTetad v #, IR faweut & @, 39 5T e & I3 & St araaran
& ToIT U gree;, @r fadeT gl

Hd & NS eT-errett

Options:

1. * TER
2. v AT
3. 3guH
4.« IGET

Question Number : 174 Question 1d : 50964710607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl &I WeaT H, I [dshedl & &, 30 T2 [dhed FT T4
FE S greRaTen & folv Uk orsg T [Ahed &l

AU & OIS TeletaTe

Options:

1. = F@EH
2.\4?3@'&@

3. % 37[UA
4, % eI

Question Number : 175 Question Id : 50964710608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTeirad 7 , IR frwmeul § ¥, 39 9a1 [Idew B o= B AT 1%h €A
& To1q 3R fame gl

JFgR UTH JFgIRT GegdT T T 8l

Options:




1. * TCATOT
2. % TIUITH
3. v QHTUT
4, « ThIT

Question Number : 175 Question Id : 50964710608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeITaad wedd H, IX Ahedl # &, 39 Tl [Theqd T IIa
F¢ S ReFa T & fov 3T Reeq a8

JFEN U NI Tl FT F1 gl

Options:

1. = TRCATOT
2. % ROMH
3. v THTOT
4. = GhR

Question Number : 176 Question Id : 50964710609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyleird 7 ¥, oR Tadetl #§ ¥, 39 g1 [dded of T+ ® ST [k T
& TeIq 3T Ty gl

SECHT H STl U N <t Sty g1 ot

Options:

1. = TeaT
2.« fedr
3. v eam
4, = &QAT

Question Number : 176 Question Id : 50964710609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
S RN Tumer & folv 3faa AereT &l

gEﬁETrITﬁumeiguﬂ’l?ﬁ‘cﬁT Sk dal 2T

1. = T
2. « fear
3. v GO
4. = Brem

Question Number : 177 Question Id : 50964710610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 4, 39 gl [didheT DT ad=T e ST 1&h AT
& To1q 3R fameT gl

TATell H I g 9 ToLH i UTet TS TS|

Options:

1. = Qrr-9rer
2. % G-t
3. ¢ elIT- AT
4, % S-S

Question Number : 177 Question 1d : 50964710610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl &I WeaT H, I [dshedl & &, 30 T2 [dhed FT T4
F S ad Tae & forv 3T fadeT &l

JeTal H IR FL @ HTOLIHA hl aret ug S|

Options:




% TTT-TTeT
x B-SId

Held[-2eld]

ol
<

* STI-II=TY

Question Number : 178 Question 1d : 50964710611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M U §, IR [a@eul § 9, 39 TgI [admey &l ad= HL ST 146 T
& To1q 3SR farwe gl

SCHTY Il g & YT 3T I g1 77T

Options:

1. * THT-dGL
2. % Bler-aal
3. v 3IT-BI-3Mt
4. % PS-T-0S

Question Number : 178 Question Id : 50964710611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeITaad wedd H, IX Ahedl # &, 39 Tl [Theqd T IIa
= S Rea e & fov 3T fawew a8

AT qferd & HTTCT §3T M &7 T

Options:

1. * 3THT-dET
2. % DICI-§aT

3. v 3E-gr-31er
4. = FIE-A-HIG



Question Number : 179 Question Id : 50964710612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTorad 77 #, IR ool § 9, 39 oo @7 od oY 511 [, e, T
el oot g

1. = T
AL
3. % TRy
4, = Qoredm

Question Number : 179 Question Id : 50964710612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTfaad wed #, IR [hedl A &, 39 QFeT &7 IIT
ST e e T T fdhed &

Options:

1. = Qe
2. v eE
3. = WA
4, = UeradT

Question Number : 180 Question Id : 50964710613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § ¥, 39 Tdthed DI TT B ST g e, Pl
F@'iafﬁﬁﬂ %I

Options:

1. » TOE
2. % THEATY
3.« ey
4, v TBIF

Question Number : 180 Question Id : 50964710613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fATa &g U2 #, TN Ahedl # &, 39
ST g esg T Tel ahed &

Options:

General Hindi2

Group Number : 10
Group Id : 509647231
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

i Y
[dened onl Tldal ond

General Hindi?2

Section Id : 509647391

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 509647550
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 50964710614 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



YTl ad U ¥, IR [Od@eUl § €, 39 [9dhey & Iad= & I 1¢J MY e
& T e BT gl TadeT gl 3l

3G

Options:

1. » <,
2. v 3RAc
3. ® HYdT
4, » eI

Question Number : 181 Question Id : 50964710614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST f2U 910 o o UITIaRT esg T el [ahedT oTal &l

g_d_
Options:

1. = ddeg
2. v 3Tag
3. = HYAT
4. x eI

Question Number : 182 Question Id : 50964710615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

My v &, IR [Adetl § ¥, 39 [dded & o= & S 16U T SIed,
& T e BT gl Tdded gl gl

I

Options:

1. % &g



2. v Ay
3. % qHIER

4, * AT

Question Number : 182 Question Id : 50964710615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST feU 1T ereg & UATIG™T eI ST HET Tahed oGl &l

JHI

N
Options:

1. = Gefel
2. v 378
3. » AR
4. = gread

Question Number : 183 Question Id : 50964710616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad vy #, IR Aaeul § T, 39 [Rwey & ad= & St faU 77 areg
&y DTel PT gt Aded gil

STe, ¥ e A ST

Options:

1. v GG APl
2. * 3HH Yddlel
3. * AT TAAT Dol

4. » YUY eTHTT Pled

Question Number : 183 Question 1d : 50964710616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




T wesT #, I) Thedl A &, 39 TFeT FT ITT R
ST oW 1w greg & hTel T Gar [ahed T

e H AT gH S1E
Options:

1. v HHT TSIk

2. ® HHod HcThTel

3. = HIHATST ddHTT Flel
4. = 3UT TAHATS Flo]

Question Number : 184 Question Id : 50964710617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTeied vy #, IR fadetl #§ ¥, 39 [Aded BT A9 O ST Gg! dTdd 9T,

PT [AdeT Bl

ATt T &, 39Telq a1 atetl]

Options:
1. v IFF a1ag

2. % TR aTaT

3. » Gegarad arad

4. » hddTd aTad

Question Number : 184 Question Id : 50964710617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST Tar arFg A T Tdehed &

ATeAerT RIS 2T, sgfelv ar el

Options:



v TIFT T

« TR g

Tegareh ared

ol
#®

« HehddTdF dTH

Question Number : 185 Question 1d : 50964710618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 §, IR [Oweul § 9, 39 [ddey & o &2 ST 951 arad 9,
&7 e il

Iie; ag Hg-Td @Y, dF Glhel g

Options:

1. » Igh aTFY
2. v TRy ey
3. * Ggarded eTad
4, % GehdeTeh e

Question Number : 185 Question Id : 50964710618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
ST Ter areFg A T [dhed &

Ife g8 AGeId M, df Ghel BT

Options:

1. * TIFd AT

2. v T8 gy

3. » HgdTde g

4. % HehddTeh aTerd



Question Number : 186 Question Id : 50964710619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad uy #, IR [aeul § T, 39 [Awmey & ad= o S Sl e

PT Gord 3TOT [ehdpeT 3l

Options:

1. = =BT
2. v USoil
3. ® 3Udq
4, = 4T

Question Number : 186 Question Id : 50964710619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol &g WesT A, TN @Fedul # &, 3T @heT T T
ST TAIToldT 216G ol HaH ol [dhed gl

Options:

1. = AT
2. v HSol
3. %= 30dd

4. = Yool

Question Number : 187 Question Id : 50964710620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYl d U7 ¥, IR [ddedl § ¥, 39 [dhed &7 aIT e ST [3h €T &
To1T ager <red, Bl oy 3T [dhe gl

HST 0T Sgd &1 gt 5% 3l

Options:

1. * T&dH




Question Number : 187 Question Id : 50964710620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST ora Tt & TOIU Sga<iel o5 &1 god 3ol [deheq &)
o

AST 9T SEd AR = ES T

Options:

1. » Q&R
2. « e
3. * THH
4. v TET

Question Number : 188 Question Id : 50964710621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fafalad vy # o Raeul #§ ¥, 39 fdew o1 a3 e S U M7 areg
& TolT U8y & 9T &7 g 3BT [ddeT

TG T UTHT aGdT 1T <@l 3l
Options:

1. » IHENTDR
2. v TTdendd
3. x GTacaTtd

4. = quidrenden

Question Number : 188 Question Id : 50964710621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol &g WesT A, TN @Fedul # &, 3T @heT T T
S f&T 310 T & Tolw U&7 o HE T Tad 3ol [dhed &l

& T UTaT d&dT =if 18T &



Options:

1. = HASIITD
2. v WITdEAIdSh
3. * GIacgeresh
4. = OIS

Oy, o

Question Number : 189 Question Id : 50964710622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeied U &, IR [9detl # 9, 39 [adey &f ad= & AT &7 M7 arad
& ToIT gid & 9, T gad 30T [ddeT 2l

&IUT 3TUT I B el gl

Options:

1. = Toregef
2. % Ghard
3. v Ggrd

4, = 8IITd

Question Number : 189 Question Id : 50964710622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d s A, TN AFeul # @, 39 TOFeT T I
St fU 910 g & Tow gicad & #AG &1 §od 3o dhed &

29T 94T FTH g% G

Options:

1. = g
2. ® FHehdrd
3. v TegTd
4. » Terezramey



Question Number : 190 Question Id : 50964710623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el ad Uy #, IR o] § §, I9 Tddey @I T D ST i H [T
1T S1EE, & 3TYR 34 [T aTadh GAATH 0T gl [adoT gl

Options:

1. v # MUY SIATAT AT (aTg) UGTS H agd o+ gl
2. = (3MT) IR & THTT ot 3TN

3. * 3ITTdhet (3MTT) FEI Ed &7
4, * 39 GTeT (AY) ST DIt 38 31T gl

Question Number : 190 Question Id : 50964710623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d weeT A, IX AFedl & @, 39 AFeT T I
ST TSk H 2T 910 e & 3TAN 37 &Y aTeh TdATH
T Far ahed &l

Options:

1. v #a 3YHT IAMT AT (T8) J& H Tgd o &
2. = (3T9) §ToR & HTHATA olehT 33T

3. % 3Tolehol (3TT) Fal I&d &7
4. » 3 i (M) TG FHIHI 375 31 gl

Question Number : 191 Question Id : 50964710624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fgieiad U ¥, IR [Aweul § 9, 39 fadhet & o o S 10 1Y ggTer
T T 37 ATelT ey gl

BIST gl U HeAT o 3

Options:

1. » QU qG BT AeAT
2. v U & 3YTel § D HT 3BT T oI
3. % 3fchol Hell AT




4. » TehdT SIS et DHT

Question Number : 191 Question 1d : 50964710624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed #, IR Aedr # &, 39 TFed FT TTT

ﬁ%@?ﬁﬂﬁﬁﬁﬂﬁrﬁﬁmm FET Y

HIET FET T HelT o6 321

Options:

1. » TT dLE HT Hell

2.Jw$3{mﬁgﬂaﬁmamﬂm
3. % 3Tchel Hell SATelT

4. % TordT Tl hT FAT

Question Number : 192 Question 1d : 50964710625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl 7 #, IR ordmetl § 9, 39 [Ad@ed @ ad= & 97 16U T ggTe
T Tar 31 ATeT ferdheT 3l

o Oler TEIRE St dAter 9%

1. v 3T & IR T AT MY
2. % SAFITS & IR BIY AT

3. % JGT S1g et agr AT

4, % WA

Question Number : 192 Question 1d : 50964710625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT #, I) Thedl A &, 39 TFeT FT ITT R
ST few aru a_-:|,5|c1i T gl 3 grell [dhed &

dd 9 9HTRA oAl offsil €Y

1. v 3T & HATHR ST Flall ST
2. % AFAG F HTAR FI Flall
3. » SI@I <191 THol T&r IGdl
4,

« T 9T HATeT

Question Number : 193 Question Id : 50964710626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § ¥, 39 Tdthed BN T B ST 1T M7 e
T T 37 ATelT [arhey gl

= T
AADPST & & FweX AT

Options:

1. * Ug & Al A/=AT
2. % SThs! ofd AT

3.vUT Qg wIH glaT 3

4, » g P g AT

Question Number : 193 Question Id : 50964710626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST feU 10 #grey T Tel 379 arel fdsheq B

[ n LY
oThal & el Fedd o

Options:



« UZ o o oATdel

« oThal olehy oIl

v 9 & & &TH &ldT &

ol

x eI hl g =Tl

Question Number : 194 Question 1d : 50964710627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MaTeiTEd U ¥, IR [Adetl § 9, 39 g1 [dded & ad- &8 I & TS
AAIThdl BT gt 31 aTelT [Adey gl

ST ST UL THET 51

Options:
1. v 950 Ied

2. * IEd BE TG
3. * @B 7 sl

4, * ggd Gl g

Question Number : 194 Question 1d : 50964710627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafel@a wesT &, I) @reul & &, 39 T2 TFheq FT T
¢ ST ET IS WANRITFIAT HT TLr 31T arell [dhed gl

THST ST W ESHST 80

Options:

1. v 98d ol
5 Ty,

2. % S F5C Hgell
3.+ 3 A CEEG

4, = §gd T el
P |




Question Number : 195 Question Id : 50964710628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MY ed ¥ §, IR Tweul § ¥, 39 [Adhey @ ad= & ST od1dT g &
TG GHg PO 379 P ST dF Thd Toig T STFNT [haT STaT g2

Options:

1. * PIBH
2. % 3T

3. v 9UC,
4. » T

Question Number : 195 Question Id : 50964710628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT

S FdTaT & foh formd @aa $o s7er g Se dr e R
3UgieT foRaT STaT &7

Options:

1. = HISSH
2. = 39faTH
3. v OIS
4. = T@ayor

Sub-Section Number: 2
Sub-Section Id: 509647551
Question Shuffling Allowed : Yes

Question Id : 50964710629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

(Question Label : Comprehension



ST TEU T el hl eATYeleh UG 3 & M 7Y & I )

TS o TelT YT T a1 MTersddhal Tg1 -t 328 Bl ITereI<har 3l
Fersamr hITIT 31T Wiera UsehT FaIT AR 31U o1& T g1 U qehd,
31 GIpT YT & AT g1 e GahdTl MTURT dg ATk HET oI ST ST
T G g4 & Tolq L W dT Uge T g, WX 39 Ig UaT g1 feb I S1
gl gl H TS 39 HUR & TTH W MY gU g SierT EUT Tepr &l @ &
Ugol §H g ST ol T ATTGY 1h GATK STTa &l 3¢9 AT 3, g6 ST &gl 8l
AT FA 3T STa BT I8 MT%rd Tg1 [T ar g7 dT-HT W SITaa|
gH et e g, of STt U= ITE 3@ - §H U & AW 1T
SiTerT § 9T Tg1 3, Sa & YeITg Dl 37U €Y T&eT 3l

Sub questions

Question Number : 196 Question Id : 50964710630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T & TR AT & TelT FeId SITET ITALAD T 32

Options:

1. = Y™
2. TSI

3. v 32T
4. = TRIEAS

Question Number : 197 Question Id : 50964710631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHTe & YeITg B U= 31JEY Aeer=T Pl FAT 37 g7

Options:

1. * YR & THT T oA

2. % Sfter ®UT 1T Dl G

3. * TRIEATALT & ITHR ool ST

4. v TREATAAT Dl 370 IR T

Question Number : 198 Question Id : 50964710632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STerT @7 398 a g1 &I+ UL & T giaT a2



Options:

1. # Il ol 3T ST Johd &
2. v UIYE g gehd 3

3. * o1& glikel O gahd g
4, « FT G gDd g

Question Number : 199 Question Id : 50964710633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&8 4 DI - 9T YeI1g P Ui gardl g1 87

Options:

1. v 3g0a
2. = dgrd
3. % U
4, % YT

Question Number : 200 Question Id : 50964710634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 ATV, DI IS IUYh AUp:

Options:

1. * AT Y YT
2. * SiterT 4T Trer
3. % SiaT T 3
4. v StaT @1 3527

Question Id : 50964710629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



s f&U IR ITETeT T AT Yash ¢ AT faU - 7o & 3o}
al

HTST o ToIU Teri T gelall 3aRIehal wa! Tolcdell 3
MERTHRAT &1 Fearg FIiST 3" ArgRT Hepl §3ﬂ?—ﬁ'\r31‘q?r

ﬂ'&_ﬂ'ﬁaﬁ'qgﬂ HehdT, 3 BIRT ATl & HIET sl e Hohdl
| 3TYRT TF SUTFd AT S8 ST IMET 9T HIN &lel & Tov
@*@mwa’rqé’ﬂ T &, I 38 I§ 9dT odal T 38 ST Fal
gl B 99 39 TN & THET W mgcr%wﬁa?rrwra‘m
F BT T Ugel §H IE ST olellT AMET o AR SdeT T 32
FIT &, &H ST gl &l Al FHe 3o Sdel hl 32T Tdredd
el oRaT ar &7 F-81 sTeer SVa| g7 IR Eufaar ey
ATSIIT, o AW T IS @ - H ART & dATH T Sidel H
gl T8l §, Sidel & AT I el 3He[®T el |

Sub questions

Question Number : 196 Question Id : 50964710630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTde & HTAR AT F ToU ToH ST TR T &7

Options:

1. % GTTHT
2. = foeard
3. v 339
4. = gRfEafa

Question Number : 197 Question Id : 50964710631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sae & Waig S d9e AT SEeAIT KT T &7

Options:




1. » O & WET 9T Tl

2. = Sigel ®UT AlehT T Talm

3. « URTEATTET & 3TN wel Sl
4. v IRTEATRAT R YA HTAR Felle]

Question Number : 198 Question 1d : 50964710632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Siidel T 382T dI slal gl 9L T &idT &7

Options:

1. % ST olehY &I ST Hehdl &
2. v OUHSE & dohd o

3. = & B Y Tl &
4. = TTET B Hohod &

Question Number : 199 Question Id : 50964710633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH O Fid - T JAE FT GIART d6l &7

Options:

1. v a&4d
2. % §ald
3. = YNT

4, =GR

Question Number : 200 Question Id : 50964710634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5O eI T hIg 3UPFd ATh:

Options:

1.&@%%
2. % HATdel ®UT Alehl




3. % SiIdel R INTH

4. v Sdel FT 322



